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12 ERYEH] BH0.20m3 R T GESEHR - E30) =IE £ A LelEWakiZe A H+ {5 i 5=0. 5%
1% 0.450 m3 0.9%0. 2%5
13 R T (RS oA - B ) Rl TR T=R=1.5
1.8m<HMHNE=2.0m Nv/tU5|#k & 1.500 m
14 IR (BT R) BHO.20m3 H BT T U1 =4 Fesiligse=1. 5%0. 9%0. 77
Jyay R ® 1.040 m3
15 IR (B R) BHO.20m3 H T T U2=%F JesiligsiZe=1. 5%0. 9%0. 65
RC—408H 52+ % /< [E ® 0.878 m3
16 ERILR (BT R) BHO.20m3 H T T US=4E Fesiligsize=1. 5%0. 9%0. 35
M—-40 52+ &2 K5 [EH D " 0.473 m3
17  ERILR (BT R) BHO.20m3 R T (R - JE30) =IE & A LfigWasise A H+ {5 Fr2k=0. 5
Tar AR R Vi 0.450 m3 0.9%0. 2%5
18RI (BT ) BHO.20m3 PR BT HERR (AR ) =IE o+ T i A= 1%1. 5%0. 058
Jyvary R ® -0.087 m3
19 HERFEIMAMEE As BER AL Gy (B HIER) =tk i i+ S =1. 35%0. 15
% 0.203 m3
00 FELFEIEMIMIR As BER ALy (AR 1R =t i+ S =1. 35%0. 05
1% 0.068 m3
21 PEBRALFREME BHO0.20m3 DTr4dt BERTE: (BRHI) =M rmmAg+E X =1. 35%0. 15
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.203 m3
22 PERRALFREME BHO0.20m3 DTrdt BERTER: (AE 1H) =i AR+ & X =1. 35%0. 05
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.068 m3
23 I E BH0.20m3 DTr4t 7 5B HR=H1 50 +H2 53 ik T8R4 (I +ll ) -~ 548 =2. 25
+# 0.5kmPL T DIDA % 2.705 m3 5+0+0.45+00
24 HHEET (FE-¥E)5cml)E I8 IR =3E F*ig+ i FE N5 =1. 5%0. 9+0
HABREAs 77445 % 1.350 m2
25  AREET (BE-¥E)5cml)E AAE [A=IE F* Mg+ AN =1. 5%0. 9+0
BAEBRIEAs Xy % 1.350 m2
26 LJEESE T (HLE-BF) 0E B 1 4mR AE H=FE K g+ E AN B =1. 5%0. 9+0
FHAEE LR EMS R % 1.350 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo
B 1 - 2 BlKEAER L[]

X 00004

BAR1-2 BfR2-1

DIP.GX ¢ 100 [KrD

NO M &FR/ IR~k B g HAL FHER
1 EREREARE T - BA B TR AT k) DIPAT % T.=L=45
6 100 % 45.000 m
2 RVZFLAY—TWET BB T=1=45
¢ 100 % 45.000 m
3 EEERE BT —7 L & BASR T=L=45
¢ 100 % 45.000 m
4 FE—MARE L EH/R T=1=45
1% 45.000 m
5 AEEkT—b AR T=L=45
150mm X 50m & 2{F5HTViA I~ & 45.000 m
6 EskEER B KRER=1L=45
1% 45.000 m
7 EEERRGINT T AT 7V NSRRI ST T = Al 2 A = PR B R AS BN B =45%2+0
15cmPA T ® 90.000 m
8  FEEXIGUEL ST TR A LB = (AR RS HIE 1 I I+ AN BN L) %0, 023%
% 0.311 m3 #&H%E/E=(45%2+0)*0. 023*0. 15
9 HREEANEBUELAA BHO0.20m3 SR 1= A g+ AR N 5 =45%0. 6+0
AHEEE10em 2 15em L T w® 27.000 m2
10 SRR BUELAA BHO0.20m3 SR T = A g+ AR 1N B =45%0. 6+0
EEEE10em L T % 27.000 m2
11 ER¥EE] BHO.20m3 PEHI THI=AE R +E*%E=45%0. 6%1. 12
% 30.240 m3
12 ERYEH] BH0.20m3 R T GESEHR - E30) =IE £ A LelEWakiZe A H+ {5 i 5=0. 5%
1% 0.960 m3 0.6%0.2%16
13 IR (BT R) BHO.20m3 H B T U1 =% Fe g 2=45%0. 6%0. 62
7oy bR % 16.740 m3
14 IR (BT R) BHO.20m3 H B T U2=%E Fosilig2=45%0. 6%0. 25
RC-408E & + & o 7S5 [E 6 % 6.750 m3
15 IR (B R) BHO.20m3 H B T US=%E Fosilig2=45%0. 6%0. 35
M-408E & + & L i [E] 6D ® 9.450 m3
16 IR (BT R) BHO.20m3 PR T (R4 - JB30) =IE & A LfigWasise A H+ {5 Fr%%=0. 5
Jyary R ® 0.960 m3 0.6%0.2%16
17  ERILR (BT R) BHO.20m3 HR BT HERR (HTER A =JE o T T A =— 1%45%0. 011
7oy bR % -0.495 m3
18 FEFXBEIEMALEE As BERF ALy (BRHIER) =l ki A+ 8 X =27%0. 15
1% 4,050 m3
19 FEFXBEIEMALEE As B BER ALy (A 1) =Rk thi Ak X =27%0. 05
% 1.350 m3
20 PEFEALHEEWR BH0.20m3 DTrdt BERT S (R HI0) =k A8 X =27%0. 15
As3 - CoBll (##7) 0.5kmEL ' DIDA " 4,050 m3
21 PEFEALEEEW: BHO0.20m3 DTrdt BER R (A8 1) =Rk thi Ak X =27%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 1.350 m3
22 F& @ BH0.20m3 DTr4t 7 3@ =11 57 +H257 ik T 88 5 (I +ll ) -~ 545 =30. 2
+# 0.5kmLA T DIDA % 31.200 m3 4+0+0.96+00
23  AHEET (FE-¥E)5cml)E I8 1B =3 g+ £ 1N 5 =45%0. 6+0
HAEBRIEAs T4 ® 27.000 m2
24  HHEET (FE-¥E)5cml)E ARAE [H=HE o * g+ A 1N 5 =45%0. 6+0
AR EAs ST % 27.000 m2
25  LJEESR T (LE-BF) 0E B 1. 4moRT ARG [H=HE o * g+ A /1N 5 =45%0. 6+0
B 2 E LR LR ® 27.000 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo

B 1 - 2 BlKEAER L[]

XfH 00005 [&AR1-2 DIP.GX ¢ 100 WriE

NO M &FR/ IR~k B g HAL FHER
1 EREREARE T - BA B TR AT k) DIP#ik T=L=3
® 100 % 3.000 m
2 MZFLLRAY—THET R T=1=3
® 100 % 3.000 m
3 EEERE BT —7 L IR T=L=3
» 100 % 3.000 m
4 FE—MARE L BHPRT=1=3
1% 3.000 m
5 AEEkT—b AR T=1=3
150mm X 50m & 2{F5HTViA I~ & 3.000 m
6 EAKFER B AKRER=L=3
% 3.000 m
7 EEERRGIET TAT7 AR Sl T = Al 2 A = PR HI A BN B =3%2+0
15ecmPL T " 6.000 m
8  FEEXIGUEL ST TR A VBT = (AR REHIE - I A+ AN BN L) %0, 023%
% 0.021 m3 HHZEE=(3%2+0)*0. 023%0. 15
9 AHMERREUELRHA BHO0.20m3 SRR T =3 g+ T A N 5 =3%0. 6+0
AHEEE10em 2 15em L T ” 1.800 m2
10 EFEERRBUELASHA BH0.20m3 AR T =3 g+ T A N 5 =3%0. 6+0
EEEE10em L T % 1.800 m2
11 ER¥EE] BHO.20m3 PEHI THI=ZE R +hE*%E=3%0. 6%0. 82
& 1.476 m3
12 ERYEH] BH0.20m3 R T GESEHR - E30) =IE £ A LelEWakiZe A H+ {5 i 5=0. 5%
% 0.180 m3 0.6%0. 2%3
13 IR (BT R) BHO.20m3 PR B T U= Mg 18=3%0. 6%0. 32
7oy bR % 0.576 m3
14 IR (BT R) BHO.20m3 PR 5T T U2=%F M+ 18=3%0. 6%0. 25
RC-408E & + & o 7S5 [E 6 % 0.450 m3
15 R (B 5) BHO.20m3 PR T US=HIE g 8=3%0. 6%0. 35
M-408E & + & L i [E] 6D ® 0.630 m3
16 IR (BT R) BHO.20m3 PR T (R4 - JB30) =IE & A LfigWasise A H+ {5 Fr%%=0. 5
Jyary R ® 0.180 m3 0.6%0.2%3
17 B (BEARHEL ) BHO.20m3 R GHTRR &) =1L =+ %8 B f=—1%3%0. 011
roioay bR % -0.033 m3
18 FEFXBEIEMALEE As BERF ALy (BRHIER) =ik Am+ 8 X =1. 8%0. 15
% 0.270 m3
19 FEFXBEIEMALEE As BERF Aoy (AR [B) =k Ad+ 8 X =1. 8%0. 05
& 0.090 m3
20 PEBRALFRIEME BHO0.20m3 DTrdt BERTEH (B HI0) =Mk im A8 X =1. 8%0. 15
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.270 m3
21 PEFEALEREW; BH0.20m3 DTr4t BERTE: (A8 1H) =k m A8 X =1. 8%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.090 m3
22 F& @ BH0.20m3 DTr4t 7 1@ =11 50 +H253 ik T8R4y (I +ll ) 58 =1. 47
+# 0.5kmLA T DIDA % 1.656 m3 6+0+0. 18+00
23  AHEET (FE-¥E)5cml)E AR IB =3 F*ig+ i FE N =3%0. 6+0
HAEBRIEAs T4 ® 1.800 m2
24  HHEET (FE-¥E)5cml)E MG [H=3E o * g+ A N 5 =3%0. 6+0
AR EAs ST % 1.800 m2
25  LJEESR T (LE-BF) 0E B 1. 4moRT MG [H=E o * g+ A N 5 =3%0. 6+0
B 2 E LR LR % 1.800 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo
B 1 - 2 BlKEAER L[]

X 00006

BHRR1-3 DIP.GX ¢ 75 WFiEF

NO 4 #p,/ Bk -~k B g HAL FHER
1 EREREARE T - BA B TE AT k) DIPAT % T=L=2. 5
¢ TOLLT ® 2.500 m
2 RYZFLLRY—TYE T A T=1=2.5
o 75LL T ® 2.500 m
3 EEERE BT —7 L IR T=1=2.5
675 % 2.500 m
4 FE—MARE L BEH/RT=L=2.5
1% 2.500 m
5 AEEkT—b IR T=1=2.5
150mm X 50m & 2{F5HTViA I~ & 2.500 m
6 EAKFER K RBR=L=2. 5
1% 2.500 m
7 EEERRGIET TAT7 AR Sl T =A% 2 = PR HI A BN B =2, 5%2+0
15ecmPL T " 5.000 m
8  FEEXIGUEL G T A VBT = (B REHIE - I I+ AR BN R %0, 023%
% 0.017 m3 #EEE=(2. 5%2+0)*0. 023%0. 15
9 AHMERREUELRHA BHO0.20m3 SRR T =3 R+ T AN B=2. 5%0. 9+0
AHEEE10em 2 15em L T ” 2.250 m2
10 EFEERRBUELASHA BH0.20m3 SRR T =3 R+ T RSN 5=2. 5%0. 9+0
EEEE10em L T % 2.250 m2
11 ER¥EE] BHO.20m3 PEHI THI=ZER+hE*%E=2. 5%0. 91, 54
% 3.465 m3
12 ERYEH] BH0.20m3 R T GESEHR - E30) =IE £ A LelEWakiZe A H+ {5 i 5=0. 5%
1% 0.360 m3 0.9%0. 2%4
13 R T (RS Op - B ) R AR TR T=tRK=2.5
L.5m<HWHNE=1.8m ~Nv/iU5g|#k & 2.500 m
14 IR (BT R) BHO.20m3 H T T U1 =% Feslige=2. 5%0. 9%0. 59
Jyay R ® 1.328 m3
15 IR (B R) BHO.20m3 P T U2=%E Fo g =2, 5%0. 9%0. 7
RC—408H 52+ % /< [E ® 1.575 m3
16 ERILR (BT R) BHO.20m3 H T T US=%E Fesiligsie=2. 5%0. 9%0. 35
M—-40 52+ &2 K5 [EH D " 0.788 m3
17 B ESHEAE (BERL ) BHO.20m3 BB (R P48 - JES50) =2E R A LxEWa% A Hx & T 4=0. 5%
Jyvary AR Vi 0.360 m3 0.9%0. 2%4
18RI (BT ) BHO.20m3 PR BT HERR (TR ) =IE o+ T i A= 1%2. 5%0. 007
Jyvary R ® -0.018 m3
19 HERFEIMAMEE As BER AL Gy (B HIER) =tk i i+ S =2. 25%0. 15
% 0.338 m3
00 FELFEIEMIMIR As BER ALy (AR 1R =t i i+ S =2. 25%0. 05
1% 0.113 m3
21 PEBRALFREME BHO0.20m3 DTr4dt BERTE (FRHI) =M E AR+ 2 X =2. 25%0. 15
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.338 m3
22 PERRALFREME BHO0.20m3 DTrdt BERTER: (AE 1H) =i AR+ & X =2. 25%0. 05
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.113 m3
23 I E BH0.20m3 DTr4t 7 5B R=H1 57 +H2 53 Hik T 88 5y (IS Hll ) 54 =3. 46
+# 0.5kmPL T DIDA % 3.825 m3 5+0+0. 36+00
24 HHEET (FE-¥E)5cml)E AR IR =3 F*ig+ i FE N 5 =2. 5%0. 9+0
HABREAs 77445 % 2.250 m2
25  AREET (BE-¥E)5cml)E MG [A=HE S+ g+ AN 5 =2. 5%0. 9+0
BAEBRIEAs Xy % 2.250 m2
26 LJEESE T (HLE-BF) 0E B 1 4mR AE H=FE K+ E+E AN B =2. 5%0. 9+0
FHAEE LR EMS R % 2.250 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo
B 1 - 2 BlKEAER L[]

X 00007

BEHRR1-3 BEHR2-2 DIP.GX ¢ 75 WG

NO M &FR/ IR~k B g HAL FHER
1 EREREARE T - BA B TE AT k) DIPAi% T.=L=7.5
¢ TOLLT ® 7.500 m
2 RYZFLLRY—TYE T A T=1=7.5
o 75LL T ® 7.500 m
3 EEERE BT —7 L IR T=L=7.5
675 % 7.500 m
4 R —MiiR T IR T=L=7.5
1% 7.500 m
5 AEEkT—b IR T=L=7.5
150mm X 50m & 2{F5HTViA I~ & 7.500 m
6 EAKFER K RBR=L="7. 5
1% 7.500 m
7 EEERRGINT T AT 7V NSRRI Sl BT T =A% 2 = PR H A B N =T, 5%2+0
15cmPA T ® 15.000 m
8  FEEXIGUEL SO T A VBT = (AR REHIE I I+ AR BN L) %0, 023%
% 0.017 m3 #HEEE=(7.5%2+0)*0. 023%0. 05
9 ARMERREUELRHA BHO0.20m3 S LR T =2 R lE + I AR N E =7, 5%0. 6+0
AHAEE10em LA T ® 4.500 m2
10 EFEERRBUELASHA BH0.20m3 S LR T =2 Roxl& + I AR N E =7, 5%0. 6+0
EEEE10em L T % 4.500 m2
11 ER¥EE] BHO.20m3 PEHI THI=ZER+IE*%E=7. 5%0. 6%0. 94
% 4,230 m3
12 ERYEH] BH0.20m3 R T GESEHR - E30) =IE £ A LelEWakiZe A H+ {5 i 5=0. 5%
1% 0.480 m3 0.6%0.2%8
13 IR (BT R) BHO.20m3 H T T U1 =4E Fesilige=7. 5%0. 6%0. 59
7oy bR % 2.655 m3
14 IR (BT R) BHO.20m3 H T T U2=%F Jesligie="7. 5%0. 6%0. 25
RC-408E & + & o 7S5 [E 6 % 1.125 m3
15 IR (B R) BHO.20m3 H T T US=%E Fe sl 2="7. 5%0. 6%0. 12
M-308E & + & o it [E] 6D ® 0.540 m3
16 IR (BT R) BHO.20m3 PR T (R4 - JB30) =IE & A LfigWasise A H+ {5 Fr%%=0. 5
Jyary R ® 0.480 m3 0.6%0. 2*8
17  ERILR (BT R) BHO.20m3 PR SRR (TR =IE o+ W i A =—1%7. 5%0. 007
7oy bR % -0.053 m3
18 FEFXBEIEMALEE As BERF ALy (BRHIR) =k A+ B X =4. 5%0. 05
1% 0.225 m3
19 FERBEFEDILE As B BER ALy (AR IH) =i s 2 S =4. 5%0. 03
% 0.135 m3
20 PEBRALFRIEME BHO0.20m3 DTrdt BERTEH (R HIR) =k A8 X =4. 5%0. 05
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.225 m3
21 PEFEALEREW; BH0.20m3 DTr4t BERTE: (18 1B) =k A8 X =4. 5%0. 03
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.135 m3
22 F& @ BH0.20m3 DTr4t 7 5B HR=H1 50 +H253 ik 88 4 (I +ll )~ 54 =4. 23
+# 0.5kmLA T DIDA % 4.710 m3 +0+0.48+00
23  AHEET (FE-¥E)3cml)E A8 IR =FE F*iig+ i FE N5 =7. 5%0. 6+0
HAEBRIEAs T4 ® 4,500 m2
24 HHEET (FE-¥E)5cml)E MG [A=HE S+ Mg+ AN =7, 5%0. 6+0
HABREAs 77445 % 4.500 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo

B 1 - 2 BlKEAER L[]

X 00008 B&HR1-3 RRVP ¢ 75 [KiiH

NO M &FR/ IR~k B g HAL FHER
1 BB (k=A% BT VPAi g% T.=L=1
b 75 % 1.000 m
2 WHEEE=VE EHRT—T T IR T=L=1
675 % 1.000 m
3 Bk —Msx L BHRT=1=1
% 1.000 m
4 BT —b IR T=L=1
150mm X 50m, &  2f5470 A 7 & 1.000 m
5 EAKEER K RER=L=1
& 1.000 m
6 EHEERRGIET TAT7NMNEEERR Sl U T =Eil 2 A = R HI A B N B =1%2+0
15emL T ® 2.000 m
7 BRRIGIRAL SO TR A VBT = (B RS HE I I+ AR BN R %0, 023%
% 0.002 m3 &HEEE=(1%2+0)*0. 023%0. 05
8 HELEANEBUELAA BHO0.20m3 SRR T =IE Fo* b+ AR N B =1%0. 6+0
EEEE10em L T % 0.600 m2
9 HEEEANEBUELAA BHO0.20m3 SRR T =IE fo* b+ AR N B =1%0. 6+0
AHAEE10em LA T ® 0.600 m2
10 ER¥EA] BHO.20m3 PEHI THI=AER+hE*E=1%0. 6%1. 44
1% 0.864 m3
11 EFRIR (B R) BHO.20m3 PR B T UL =3 Mg 8=1%0. 6%0. 59
7oy bR % 0.354 m3
12 IR (B R) BHO.20m3 PR 5 T U2=%F - # M 18=1%0. 6%0. 75
RC-408E & + & o 7S5 [E o % 0.450 m3
13 LR (B 5) BHO.20m3 M5 T US=HE g 8=1%0. 6%0. 12
M-308E & + & o it [E] 6D ® 0.072 m3
14 IR (BT R) BHO.20m3 R HERR CHTRR ) =JE =45 Wi Adi=—1%1%0. 006
Iyvar Hb R % -0.006 m3
15 FERBEFEDILE As B BERF ALy (HE HITR) =R s S =0. 6%0. 05
% 0.030 m3
16 FEFXBEIEMALEE As BERF A5y (AR |B) =l ki A+ B X =0. 6%0. 03
1% 0.018 m3
17 FPEFSMLPRMEME BHO0.20m3 DTrat BERTEH (R HI0) =k A+ B X =0. 6%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.030 m3
18 PEBSALFRLYEME BHO0.20m3 DTr4t BERTE (A8 1B) =k A8 X =0. 6%0. 03
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.018 m3
19 F&E M BHO0.20m3 DTr4t 7 5B R=H1 57 +H2 55 Hik T 88 55 (IS +Hll ) — 54 =0. 86
+# 0.5kmPL T DIDA % 0.864 m3 4+0+0+00
20 AREET (FE-HE)3cml)E A8 IB =3 o+ + i FE N =1%0. 6+0
HABREAs 77445 % 0.600 m2
21 &HEET (FEE-¥E)5cml)E MG [H=3E F* g+ AN 5 =1%0. 6+0
HAEBRIEAs T4 ® 0.600 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo

B 1 - 2 BlKEAER L[]

X 00009 [AR1-4 DIP.GX ¢ 100 Wril

NO 4 #p,/ Bk -~k B g HAL FHER
1 EREREARE T - BA B TR AT k) DIPAT % T.=L=3
6 100 % 3.000 m
2 RIZFLLAU—T BT ERRTAL=3
¢ 100 % 3.000 m
3 EEERE BT —7 L IR T=L=3
¢ 100 % 3.000 m
4 R —MiiR T IR T=L=3
1% 3.000 m
5 AEEkT—b AR T=1=3
150mm X 50m & 2{F5HTViA I~ & 3.000 m
6 EAKFER K ER=1=3
1% 3.000 m
7 EEERRGIET TAT7 AR Sl T = Al 2 A = PR HI A BN B =3%2+0
15ecmPL T " 6.000 m
8  FEEXIGUEL ST TR A VBT = (AR REHIE - I A+ AN BN L) %0, 023%
% 0.021 m3 HHZEE=(3%2+0)*0. 023%0. 15
9 AHMERREUELRHA BHO0.20m3 SRR T =3 g+ T A N 5 =3%0. 9+0
AHEEE10em 2 15em L T ” 2.700 m2
10 EFEERRBUELASHA BH0.20m3 AR T =3E g+ T A N 5 =3%0. 9+0
EEEE10em L T % 2.700 m2
11 ER¥EE] BHO.20m3 PEHI THI=ZE R +hE*E=3%0. 9%1. 57
% 4,239 m3
12 ERYEH] BH0.20m3 R T GESEHR - E30) =IE £ A LelEWakiZe A H+ {5 i 5=0. 5%
1% 0.180 m3 0.9%0. 2%2
13 R T (RS Op - B ) R AR B T=t £=3
L.5m<HWHNE=1.8m ~Nv/iU5g|#k & 3.000 m
14 IR (BT R) BHO.20m3 PR BT T UL =3 M 18=3%0. 9%0. 62
Iyvar Hb R % 1.674 m3
15 IR (B R) BHO.20m3 PR 5T T U2=%F - # Mg #18=3%0. 9%0. 7
RC-408E K + & o 7 S5 [H o & 1.890 m3
16 ERILR (BT R) BHO.20m3 PR 5T T US=%E - # M 18=3%0. 9%0. 35
M-40BR 5 + & L /3 [ 6 % 0.945 m3
17 E ML (FEAOH5) BHO.20m3 HEGE T GRET4IE - JES32) =3E R A LiigWa € A B 5T =0. 5%
Jyvary AR Vi 0.180 m3 0.9%0. 22
18RI (BT ) BHO.20m3 R HERR CHTRR ) =JE 48 Wi Adi=—1%3%0. 011
Iyvar AR % -0.033 m3
19 HERFEIMAMEE As BERA AL Gy (B HIER) =t et i+ <=2, 7%0. 15
% 0.405 m3
00 FELFEIEMIMIR As BER AL S5 (RAE TH) =R Rk T F+ 5 S =2. 7%0. 05
1% 0.135 m3
21 PEBRALFREME BHO0.20m3 DTr4dt BERTE (B HIR) =Mk im A8 X =2. 7%0. 15
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.405 m3
20 PEFEALEREW; BHO0.20m3 DTr4t BERTE (AR 1B) =k im A8 X =2. 7%0. 05
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.135 m3
23 I E BH0.20m3 DTr4t 7 5B HR=H1 50 +H253 ik T8R4 (I +ll ) — i 54 =4. 23
+# 0.5kmPL T DIDA % 4.419 m3 9+0+0. 18+00
24 HHEET (FE-¥E)5cml)E A8 IB =3 F*ig+ i FE N =3%0. 9+0
HABREAs 77445 % 2.700 m2
25  AREET (BE-¥E)5cml)E MG [H=E o * g+ A N 5 =3%0. 9+0
BAEBRIEAs Xy % 2.700 m2
26 LJEESE T (HLE-BF) 0E B 1 4mR MG [H=3E F* g+ A AN 5 =3%0. 9+0
FHAEE LR EMS R % 2.700 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo
B 1 - 2 BlKEAER L[]

X 00010

BHR1-4 DIP.GX ¢ 100 [Mrai]

10

NO M &FR/ IR~k B g HAL FHER
1 EREREARE T - BA B TR AT k) DIP#i% T.=L=5.5
® 100 % 5.500 m
2 RYZFLLRY—TYE T A T=1=5.5
® 100 % 5.500 m
3 EEERE BT —7 L IR T=L=5.5
» 100 % 5.500 m
4 R —MiiR T IR T=L=5.5
1% 5.500 m
5 AEEkT—b IR T=L=5.5
150mm X 50m & 2{F5HTViA I~ & 5.500 m
6 EAKFER K FRBR=L=5. 5
1% 5.500 m
7 EEERRGINT T AT 7V NSRRI Sl T =A% 2 = PR B A BN B =5, 5%2+0
15cmPA T ® 11.000 m
8  FEEXIGUEL S T A VBT = (AR HIE I I+ AR BN L) %0, 023%
% 0.013 m3 #EEE=(5.5%2+0)*0. 023%0. 05
9 ARMERREUELRHA BHO0.20m3 S LR A T =2 R l& + I AR N E=5. 5%0. 6+0
AHAEE10em LA T ® 3.300 m2
10 EFEERRBUELASHA BH0.20m3 S LR T =4 R & + I AR N EL=5. 5%0. 6+0
EEEE10em L T % 3.300 m2
11 ER¥EE] BHO.20m3 PEHI THI=ZER+hE*%E=5. 5%0. 6%0. 97
% 3.201 m3
12 ERYEH] BH0.20m3 R T GESEHR - E30) =IE £ A LelEWakiZe A H+ {5 i 5=0. 5%
1% 0.300 m3 0.6%0.2%5
13 IR (BT R) BHO.20m3 H T T U1 =4 Fe sl =5, 5%0. 6%0. 62
7oy bR % 2.046 m3
14 IR (BT R) BHO.20m3 H T T U2=%F Jesilige=5. 5%0. 6%0. 25
RC-408E & + & o 7S5 [E 6 % 0.825 m3
15 IR (B R) BHO.20m3 H T T US=%E Fe sl 2=5. 5%0. 6%0. 12
M-308E & + & o it [E] 6D ® 0.396 m3
16 IR (BT R) BHO.20m3 PR T (R4 - JB30) =IE & A LfigWasise A H+ {5 Fr%%=0. 5
Jyary R ® 0.300 m3 0.6%0.2%5
17  ERILR (BT R) BHO.20m3 PR BT HERR (HTER ) =JE 4% T i A =—1%5. 5%0. 011
Tar AR R ® -0.061 m3
18 FEFXBEIEMALEE As BERF ALy (BRHIER) = ki A+ 8 X =3. 3%0. 05
1% 0.165 m3
19 FERBEFEDILE As B BER ALy (AR IA) =i s 2 < =3. 3%0. 03
% 0.099 m3
20 PEBRALFRIEME BHO0.20m3 DTrdt BERTE W (R HI0) =k A+ 8 X =3. 3%0. 05
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.165 m3
21 PEFEALEREW; BH0.20m3 DTr4t BERTE: (A8 1B) =k A8 X =3. 3%0. 03
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.099 m3
22 F& @ BH0.20m3 DTr4t 7 3B R=H1 57 +H255 Hik T 98 5 (IS +Hll ) 54 =3. 20
+# 0.5kmLA T DIDA % 3.501 m3 1+0+0.3+00
23  AHEET (FE-¥E)3cml)E IR IR =3 g+ FE N 5 =5. 5%0. 6+0
HAEBRIEAs T4 ® 3.300 m2
24 HHEET (FE-¥E)5cml)E MG [H=HE S+ g+ AN =5, 5%0. 6+0
HABREAs 77445 % 3.300 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo
B 1 - 2 BlKEAER L[]

X 00011 [&##1-4 DIP.K ¢ 100 ik

11 ="

NO 4 #p,/ Bk -~k B g HAL FHER
1 EREREARE T - BA B TR AT k) DIPAT % T=L=1.5
® 100 % 1.500 m
2 RYZFLLRY—TYE T A T=1=1.5
® 100 % 1.500 m
3 EEERE BT —7 L IR T=L=1.5
» 100 % 1.500 m
4 R —MiiR T IR T=L=1.5
1% 1.500 m
5 AEEkT—b IR T=L=1.5
150mm X 50m & 2{F5HTViA I~ & 1.500 m
6 EAKFER KR BR=L=1.5
% 1.500 m
7 EEERRGIET TAT7 AR Sl T =A% 2 = PR H A BN B =1, 5%2+0
15ecmPL T " 3.000 m
8  FEEXIGUEL ST T A VBT = (AR REHIE I A+ AR BN L) %0, 023%
% 0.003 m3 #EEE=(1.5%2+0)*0. 023%0. 05
9 ARMERREUELRHA BHO0.20m3 SRR T=IE R hE+ T AN 5=1. 5%0. 65+0
AHAEE10em LA T ® 0.975 m2
10 EFEERRBUELASHA BH0.20m3 SRR T=IE g+ AN 5=1. 5%0. 65+0
EEEE10em L T % 0.975 m2
11 ER¥EE] BHO.20m3 A THI=E F#hg+%E=1. 5%0. 65%0. 97
& 0.946 m3
12 ERYEH] BH0.20m3 R T GESEHR - E30) =IE £ A LelEWakiZe A H+ {5 i 5=0. 5%
% 0.325 m3 0.65%0. 2%5
13 IR (BT R) BHO.20m3 B TUL=3E i@ E=1. 5%0. 65%0. 62
7oy bR & 0.605 m3
14 IR (BT R) BHO.20m3 PR 5 T U2=3E el 8=1. 5%0. 65%0. 25
RC-408E & + & o 7S5 [E 6 % 0.244 m3
15 LR (BRI 5) BHO.20m3 M5 TUS=HE R #MEiZE=1. 5%0. 65%0. 12
M-308E & + & o it [E] 6D ® 0.117 m3
16 IR (BT R) BHO.20m3 PR T (R4 - JB30) =IE & A LfigWasise A H+ {5 Fr%%=0. 5
Jyary R ® 0.325 m3 0.65%0. 2%5
17 E ML (FEAOH5) BHO.20m3 PR CHTRR ) =IE R+ TR A =—1%1. 5%0. 011
Trar AR R ® -0.017 m3
18 FEFXBEIEMALEE As BERF ALy (BRHIER) =l kA B X =0. 975%0. 05
% 0.049 m3
19 FEFXBEIEMALEE As BER AL Sy (AR |B) =l ki A+ 8 £ =0. 975%0. 03
& 0.029 m3
20 PEBRALFRIEME BHO0.20m3 DTrdt BEREHE (R EIER) =i A+ 2 X =0. 975%0. 05
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.049 m3
21 PEBRALFREME BHO0.20m3 DTr4dt BERTE: (IHE 1B) =k A8 £ =0. 975%0. 03
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.029 m3
22 F& @ BH0.20m3 DTr4t 7 5B R=H1 57 +H253 +ik T 98 5 (IS +Hll ) — 54 =0. 94
1+ 0.5kmLL T DIDA % 1.271 m3 6+0+0. 325+00
23  AHEET (FE-¥E)3cml)E A8 IR =FE F*ig+ i FE MR =1. 5%0. 65+0
HAEBRIEAs T4 ® 0.975 m2
24 HHEET (FE-¥E)5cml)E AAE IH=IE F* Mg+ AN 5 =1. 5%0. 65+0
HABREAs 77445 % 0.975 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo
B 1 - 2 BlKEAER L[]

12

X 00012 #&#R2-1 DIP. GX ¢ 100  WrimL
NO 4 #p,/ Bk -~k B g HAL FHER
1 EREREARE T - BA B TR AT k) DIPAT g% T=L=12
6 100 % 12.000 m
2 RVZFLAY—TWET EPRTAL=12
® 100 % 12.000 m
3 EEERE BT —7 L IR T=L=12
¢ 100 % 12.000 m
4 FE—MARE L BRI =L=12
1% 12.000 m
5 AEEkT—b IR T=L=12
150mm X 50m & 2{F5HTViA I~ & 12.000 m
6 EskEER BAKRER=L=12
1% 12.000 m
7 EEERRGIET TAT7 AR ST T =A% 2 = PR B R AS BN B =12%2+0
15cmPA T & 24.000 m
8  FEEXIGUEL ST W) A LB = (AR REAIE - I I+ AR BN L) %0, 023%
% 0.083 m3 #EE/E=(12%2+0)*0. 023*0. 15
9 HREEANEBUELAA BHO0.20m3 SRR T =3 g+ AN B =12%0. 6+0
AHEEE10em 2 15em L T ” 7.200 m2
10 EFEERRBUELASHA BH0.20m3 SRR T =3 b+ AN B =12%0. 6+0
EEEE10em L T % 7.200 m2
11 ER¥EE] BHO.20m3 PEHI THI=ZER+E*%E=12%0. 6%1. 02
% 7.344 m3
12 ERYEH] BH0.20m3 R T GESEHR - E30) =IE £ A LelEWakiZe A H+ {5 i 5=0. 5%
1% 0.420 m3 0.6%0. 2%7
13 IR (BT R) BHO.20m3 H B T U1 =% FosiligiZE=12%0. 6%0. 52
7oy bR % 3.744 m3
14 IR (BT R) BHO.20m3 H B T U2=%E FosiligZ2=12%0. 6%0. 25
RC-408E & + & o 7S5 [E 6 % 1.800 m3
15 IR (B R) BHO.20m3 H B T US=%E FosiligZ=12%0. 6%0. 35
M-408E & + & L i [E] 6D ® 2.520 m3
16 IR (BT R) BHO.20m3 PR T (R4 - JB30) =IE & A LfigWasise A H+ {5 Fr%%=0. 5
Jyary R ® 0.420 m3 0.6%0. 2%7
17 E ML (FEAOH5) BHO.20m3 PR EEPERR CHTRR ) =IE R+ T R A=—1%12%0. 011
Jvioay AR Vi -0.132 m3
18 HERFEIMALER As BERA AL Gy (B HIER) =t e i i+ S =7. 2%0. 15
1% 1.080 m3
19 HERFEFMALEE As BER AL S5 (AE TH) =R ik T Fi+ 5 S =7. 2%0. 05
% 0.360 m3
20 PEBRALFRIEME BHO0.20m3 DTrdt BERTEH (B HIR) =Mk A8 X =7. 2%0. 15
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 1.080 m3
21 PEFEALEREW; BH0.20m3 DTr4t BERTE (AR 1B) =k m A8 X =7. 2%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.360 m3
22 F& @ BH0.20m3 DTr4t 7 3B R=H1 57 +H2 53 ik T 88 5y (IS Hll ) — A5 =7. 34
+# 0.5kmLA T DIDA % 7.764 m3 4+0+0. 42+00
23  AHEET (FE-¥E)5cml)E IR | =3 g+ A N 5 =12%0. 6+0
HAEBRIEAs T4 ® 7.200 m2
24  HHEET (FE-¥E)5cml)E MG [H=HE o+ Mg+ A N 5 =12%0. 6+0
AR EAs ST % 7.200 m2
25  LJEESR T (LE-BF) 0E B 1. 4moRT MG [H=HE o+ g+ A N 5 =12%0. 6+0
B 2 E LR LR % 7.200 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo

B 1 - 2 BlKEAER L[]

X 00013 B&HR2-1 B&H#R2-3 DIP.GX ¢ 100 KriM

13

NO 4 #p,/ Bk -~k B g HAL FHER
1 EREREARE T - BA B TR AT k) DIPAT % T.=L=4. 5
6 100 % 4.500 m
2 RYZFLLRY—TYE T A T=1L=4.5
¢ 100 % 4.500 m
3 EEERE BT —7 L IR T=1=4.5
¢ 100 % 4.500 m
4 R —MiiR T IR T=1=4.5
1% 4.500 m
5 AEEkT—b IR T=1=4.5
150mm X 50m & 2{F5HTViA I~ & 4.500 m
6 EAKFER K RBR=L=4. 5
1% 4,500 m
7 EEERRGIET TAT7 AR Sl BT T =A% 2 = PR B A BN B =4, 5%2+0
15ecmPL T " 9.000 m
8  FEEXIGUEL S TR A VBT = (B REHIE I I+ AR BN L) %0, 023%
% 0.031 m3 #HEEE=(4.5%2+0)*0. 023%0. 15
9 AHMERREUELRHA BHO0.20m3 SRR T =3 R+ T RSN B=4. 5%0. 9+0
AHEEE10em 2 15em L T ” 4.050 m2
10 EFEERRBUELASHA BH0.20m3 SRR T =0 R+ T RS N B=4. 5%0. 9+0
EEEE10em L T % 4.050 m2
11 ER¥EE] BHO.20m3 PEHI THI=ZER+E*E=4. 5%0. 9%1. 42
% 5.751 m3
12 ERYEH] BH0.20m3 R T GESEHR - E30) =IE £ A LelEWakiZe A H+ {5 i 5=0. 5%
1% 0.450 m3 0.9%0. 2%5
13 IR (BT R) BHO.20m3 H B T U1 =4 Fesiligsie=4. 5%0. 9%0. 62
7oy bR % 2.511 m3
14 IR (BT R) BHO.20m3 H T T U2=%E Jesiligsife=4. 5%0. 9%0. 55
RC-408E & + & o 7S5 [E 6 % 2.228 m3
15 R (B 5) BHO.20m3 HiL 5T TUB=4IE o #F+E=4. 5%0. 9%0. 35
M-408E & + & L i [E] 6D ® 1.418 m3
16 IR (BT R) BHO.20m3 PR T (R4 - JB30) =IE & A LfigWasise A H+ {5 Fr%%=0. 5
Jyary R ® 0.450 m3 0.9%0. 2%5
17 E ML (FEAOH5) BHO.20m3 BB CHTRR ) =IE R+ T TR A= 1%4. 5%0. 011
roioay bR % -0.050 m3
18 FEFXBEIEMALEE As BERF ALy (BRI =k i A+ X =4. 05%0. 15
1% 0.608 m3
19 FERBEFEDILE As B BER ALy (AR IA) =Rt < =4. 05%0. 05
% 0.203 m3
20 PEBRALFRIEME BHO0.20m3 DTrdt BERTE: (BRHI) =M E AR+ 2 X =4. 05%0. 15
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.608 m3
21 PEBRALFREME BHO0.20m3 DTr4dt BERTER: (AE 1H) =i AR+ 2 X =4. 05%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.203 m3
22 F& @ BH0.20m3 DTr4t 7 A 3E =11 50 +H257 ik T 88 5 (I +ll ) -~ 548 =5. 75
+# 0.5kmLA T DIDA % 6.201 m3 1+0+0.45+00
23  AHEET (FE-¥E)5cml)E AR IR =3 F*iig+ i F N 5 =4. 5%0. 9+0
HAEBRIEAs T4 ® 4,050 m2
24  HHEET (FE-¥E)5cml)E MG [A=HE S+ g+ AN 5 =4. 5%0. 9+0
AR EAs ST % 4.050 m2
25  LJEESR T (LE-BF) 0E B 1. 4moRT AE H=4E K+ E+EFE NN B =4. 5%0. 9+0
B 2 E LR LR % 4,050 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo

B 1 - 2 BlKEAER L[]

X 00014 [#4#2-1 RRVP ¢ 75 WrimiN

14

NO M &FR/ IR~k B g HAL FHER
1 BB (k=A% BT VPAisk T.=L=1.5
675 % 1.500 m
2 WHEEE=VE EHRT—T T IR T=L=1.5
675 1% 1.500 m
3 Bk —Msx L BEH/RT=L=1.5
% 1.500 m
4 BT —b IR T=L=1.5
150mm X 50m, &  2f5470 A 7 & 1.500 m
5 EAKEER KR BR=L=1.5
% 1.500 m
6 EHEERRGIET TAT7NMNEEERR ST T =A% 2 = R HI A BN B =1, 5%2+0
15emL T ® 3.000 m
7 BRRIGIRAL SO TR K LB = (B REHE 1 I A+ AR BN L) *0. 023%
% 0.010 m3 AHZEE=(1.5%2+0)*0. 023%0. 15
8 AHERREUELFHA BHO0.20m3 S LR T =2 RoxlE + I AR N E=1. 5%0. 9+0
EiZE)E10emAA X 15ecm L T ® 1.350 m2
9 ARMERREUELRHA BHO0.20m3 S LR T =2 RoxlE + I AR N E =1, 5%0. 9+0
AHAEE10em LA T ® 1.350 m2
10 ER¥EA] BHO.20m3 PEHI THI=ZER+hE*%E=1. 5%0. 91, 54
1% 2.079 m3
11 BT (RS Op - B ) Rl TR T=R=1.5
1.5m<HHHNE=1.8m ~Nv/tU5|Hk & 1.500 m
12 IR (BT R) BHO.20m3 H T T U1 =4 Fesiligse=1. 5%0. 9%0. 59
Iyvar HbHR % 0.797 m3
13RI (B R) BHO.20m3 H BT T U2=%E FesiligiZ=1. 5%0. 9%0. 7
RC-408E B + & o 7S5 [H o & 0.945 m3
14 IR (BT R) BHO.20m3 H T T US=%E Fesiligsize=1. 5%0. 9%0. 35
M-40BR 5 + & L S [ 6 % 0.473 m3
15 EESHLER (FEAOH 5) BHO.20m3 PR CHTRR ) =IE R+ I R =— 1% 1. 5%0. 006
Tvar AR R ® -0.009 m3
16 HERFEIMAMER As BER AL Gy (B HIER) =tk i i+ S =1. 35%0. 15
1% 0.203 m3
17 REERFEIEMALER As B BER ALy (AR 1R) =t i+ S =1. 35%0. 05
% 0.068 m3
18 FEFSMLPRMEME BHO0.20m3 DTrat BERTE (BRHI) =M mmAg+JE X =1. 35%0. 15
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.203 m3
19 FEFSMLPREEME BHO0.20m3 DTrat BERTER: (AE 1H) =i AR+ & X =1. 35%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.068 m3
20 F&4E @ BH0.20m3 DTr4t 7 1@ =11 50 +H253 ik T8R4 (I +ll ) -~ 54 =2. 07
+# 0.5kmLA T DIDA % 2.079 m3 9+0+0+00
21 &HEET (FEE-¥E)5cml)E I8 IR =3E F*ig+ i FE N5 =1. 5%0. 9+0
HAEBRIEAs T4 ® 1.350 m2
29  AHEET (BE-¥E)5cml)E AAE [A=IE F* Mg+ AN 5 =1. 5%0. 9+0
AR EAs ST % 1.350 m2
23 LR T (HE-BF) 0E B 1 4mAR AE H=FE K +E+EFE NN B =1. 5%0. 9+0
BTS2 ENH RS LR % 1.350 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo

B 1 - 2 BlKEAER L[]

X 00015 [&#R2-2 DIP.GX ¢ 75 Wrmo

15

NO M &FR/ IR~k B g HAL FHER
1 EREREARE T - BA B TE AT k) DIPAT % T.=L=1
¢ TOLLT ® 1.000 m
2 RIZFLLAU—THET BRI
o 75LL T ® 1.000 m
3 EEERE BT —7 L IR T=L=1
675 % 1.000 m
4 B — MR T HR LA
1% 1.000 m
5 AEEkT—b IR T=L=1
150mm X 50m & 2{F5HTViA I~ & 1.000 m
6 EAKFER K ER=1L~1
1% 1.000 m
7 EEERRGIET TAT7 AR Sl U T =A% A = R HI A B N B =1%2+0
15ecmPL T " 2.000 m
8  FEEXIGUEL ST T A LB = (AR RS HIE I I+ AR BN R %0, 023%
% 0.007 m3 HHZEE=(1%2+0)*0. 023%0. 15
9 HREEANEBUELAA BHO0.20m3 SRR T =IE fo* b+ AR N B =1%0. 6+0
AHEEE10em 2 15em L T ” 0.600 m2
10 EFEERRBUELASHA BH0.20m3 AR T =IE Fox b+ AR N B =1%0. 6+0
EEEE10em L T % 0.600 m2
11 ER¥EE] BHO.20m3 PEHI THI=ZER+hE*%E=1%0. 6%0. 99
% 0.594 m3
12 ERYEH] BH0.20m3 R T GESEHR - E30) =IE £ A LelEWakiZe A H+ {5 i 5=0. 5%
1% 0.120 m3 0.6%0. 2%2
13 IR (BT R) BHO.20m3 PR B T U= Mg 8=1%0. 6%0. 49
7oy bR % 0.294 m3
14 IR (BT R) BHO.20m3 PR 5 T U2=%E M 8=1%0. 6%0. 25
RC-408E & + & o 7S5 [E 6 % 0.150 m3
15 IR (B R) BHO.20m3 PR B T US=%E F-#ME#E=1%0. 6%0. 35
M-408E & + & L i [E] 6D ® 0.210 m3
16 IR (BT R) BHO.20m3 PR T (R4 - JB30) =IE & A LfigWasise A H+ {5 Fr%%=0. 5
Jyary R ® 0.120 m3 0.6%0. 2%2
17 B (BEARHEL ) BHO.20m3 PR R RR (HTRR ) =4 Fox "8 W i Ff=— 1 1%0. 007
roioay bR % -0.007 m3
18 HERFEIMALER As BERA AL Gy (B HIER) =t ik i F+ . < =0. 6+%0. 15
1% 0.090 m3
19 HERFEFMALEE As BER AL S5 (RAE TH) =R Rk T F+ 5 $=0. 6%0. 05
% 0.030 m3
20 PEBRALFRIEME BHO0.20m3 DTrdt BERTEH (R HI0) =Mk A8 X =0. 6%0. 15
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.090 m3
21 PEFEALEREW; BH0.20m3 DTr4t BERTE (A8 1B) =k A& X =0. 6%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.030 m3
22 F& @ BH0.20m3 DTr4t 7 3B HR=H1 57 +H253 +Hik T 88 55 (I +ll ) — #5485 =0. 59
+# 0.5kmLA T DIDA % 0.714 m3 4+0+0.12+00
23  AHEET (FE-¥E)5cml)E A8 B =3 o+ + i FE N =1%0. 6+0
HAEBRIEAs T4 ® 0.600 m2
24  HHEET (FE-¥E)5cml)E MG [H=3E F* g+ AN 5 =1%0. 6+0
AR EAs ST % 0.600 m2
25  LJEESR T (LE-BF) 0E B 1. 4moRT MG [H=3E F* g+ AN 5 =1%0. 6+0
B 2 E LR LR % 0.600 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo
B 1 - 2 BlKEAER L[]

X 00016 [#&#H#2-2 RRVP ¢ 75 iiP

16 H

NO M &FR/ IR~k B g HAL FHER
1 BB (k=A% BT VPAisk T.=L=1.5
675 % 1.500 m
2 WHEEE=VE EHRT—T T IR T=L=1.5
675 % 1.500 m
3 Bk —Msx L BEH/RT=L=1.5
% 1.500 m
4 BT —b IR T=L=1.5
150mm X 50m, &  2f5470 A 7 & 1.500 m
5 EAKEER KR BR=L=1.5
% 1.500 m
6 EEERUINT TAT7V MR ST T =A% 2 = R HI A BN B =1, 5%2+0
15emL T ® 3.000 m
7 BRRIGIRAL SO TR K LB = (B REHE 1 I A+ AR BN L) *0. 023%
% 0.003 m3 AHIEE=(1.5%2+0)*0. 023*0. 05
8 AHIERREUELFHA BHO0.20m3 S LR T =2 RoxlE + I AR N E=1. 5%0. 6+0
EEEE10em L T % 0.900 m2
9 ARMERREUELRHA BHO0.20m3 S LR T =2 RoxlE + I AR N E =1, 5%0. 6+0
AHAEE10em LA T ® 0.900 m2
10 ER¥EA] BHO.20m3 PEHI THI=ZER+hE*%E=1. 5%0. 6%1. 34
1% 1.206 m3
11 EFRIR (B R) BHO.20m3 H T T U1 =% Fesiligsze=1. 5%0. 6%0. 59
Tar AR R ® 0.531 m3
12 IR (B R) BHO.20m3 H T T U2=%F Fesiligize=1. 5%0. 6%0. 65
RC-408E & + & o 7S5 [E o % 0.585 m3
13 EHHLE (Bt ) BHO.20m3 5T TUS=JE Fexiifi*ifE=1. 5+0. 6%0. 12
M-308E & + & o it [E] 6D ® 0.108 m3
14 IR (BT R) BHO.20m3 PR BT HERR (TR ) =+ W i A= 1%1. 5%0. 006
Iyvar Hb R % -0.009 m3
15 FEFXBEIEMALEE As BERF ALy (BRHIR) =k A+ X =0. 9%0. 05
% 0.045 m3
16 FEFXBEIEMALEE As BERF ALy (AR |B) =l ki s+ B X =0. 9%0. 03
1% 0.027 m3
17 FPEFSMLPRMEME BHO0.20m3 DTrat BERTEH (R HI0) =Mk A+ 8 X =0. 9%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.045 m3
18 PEBSALFRLYEME BHO0.20m3 DTr4t BERTE (A8 1B) =k A8 X =0. 9%0. 03
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.027 m3
19 F&E M BHO0.20m3 DTr4t 7 5B R=H1 57 +H2 53 Hik T 88 4y (IS Hll ) — B =1. 20
+# 0.5kmPL T DIDA % 1.206 m3 6+0+0+00
20 AREET (FE-HE)3cml)E A8 IR =3E F*ig+ i FE N5 =1. 5%0. 6+0
HABREAs 77445 % 0.900 m2
21 &HEET (FEE-¥E)5cml)E AAE [H=IE S+ Mg+ AN =1. 5%0. 6+0
HAEBRIEAs T4 ® 0.900 m2
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X 00017
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NO M &FR/ IR~k B g HAL FHER
1 EREREARE T - BA B TR AT k) DIPAT g% T.=L=7
6 100 % 7.000 m
2 MZFLLRAY—THET R T=1=7
® 100 % 7.000 m
3 EEERE BT —7 L IR T=L=7
¢ 100 % 7.000 m
4 FE—MARE L BHRT=1=T7
1% 7.000 m
5 AEEkT—b &R T=1=7
150mm X 50m & 2{F5HTViA I~ & 7.000 m
6 EAKFER B AKRER=L=7
1% 7.000 m
7 EEERRGINT T AT 7V NSRRI Sl U T =Eil 2 A = R HI A B N B =T#2+0
15cmPA T ® 14.000 m
8  FEEXIGUEL SO T A VBT = (AR REHIE I I+ AR BN L) %0, 023%
% 0.016 m3 HHZEE=(T*2+0)*0. 023%0. 05
9 ARMERREUELRHA BHO0.20m3 S LR T =4 RolE + T AR N E=T%0. 6+0
AHAEE10em LA T ® 4.200 m2
10 EFEERRBUELASHA BH0.20m3 S LR T =4 Rol& + T AR N E=T%0. 6+0
EEEE10em L T % 4.200 m2
11 ER¥EE] BHO.20m3 PEHI THI=AER+IE+E=T%0. 6%1. 12
% 4,704 m3
12 ERYEH] BH0.20m3 R T GESEHR - E30) =IE £ A LelEWakiZe A H+ {5 i 5=0. 5%
1% 0.360 m3 0.6%0.2%6
13 IR (BT R) BHO.20m3 PR B T UL =3 Mg 18=7%0. 6%0. 62
7oy bR % 2.604 m3
14 IR (BT R) BHO.20m3 PR 5T T U2=%F - # M 18=7%0. 6%0. 35
RC-408E & + & o 7S5 [E 6 % 1.470 m3
15 IR (B R) BHO.20m3 PR B T US=3E Mg+ 18=7%0. 6%0. 17
M-308E & + & o it [E] 6D ® 0.714 m3
16 IR (BT R) BHO.20m3 PR T (R4 - JB30) =IE & A LfigWasise A H+ {5 Fr%%=0. 5
Jyary R ® 0.360 m3 0.6%0.2%6
17  ERILR (BT R) BHO.20m3 R HERR CHTRR ) =JE =48 Wi Adi=—1%7%0. 011
7oy bR % -0.077 m3
18 FEFXBEIEMALEE As BERF ALy (BRHIR) =ik Am+ 8 X =4. 2%0. 05
1% 0.210 m3
19 FEFXBEIEMALEE As BERF ALy (AR [B) =k Am+JE X =4. 2%0. 03
% 0.126 m3
20 PEBRALFRIEME BHO0.20m3 DTrdt BERTE (R HI0) =Mk A+ B X =4. 2%0. 05
As3 - CoBll (##7) 0.5kmEL ' DIDA " 0.210 m3
21 PEFEALEREW; BH0.20m3 DTr4t BERTE: (A8 1B) =k im A8 X =4. 2%0. 03
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.126 m3
22 F& @ BH0.20m3 DTr4t 7 5B R=H1 57 +H2 53 ik T 88 5y (IS Hll ) — 5 =4. 70
+# 0.5kmLA T DIDA % 5.064 m3 4+0+0. 36+00
23  AHEET (FE-¥E)3cml)E A8 B =FE o+ + i FE N H=70. 6+0
HAEBRIEAs T4 ® 4,200 m2
24 HHEET (FE-¥E)5cml)E MG [H=3E o+ g+ A N 5 =7%0. 6+0
HABREAs 77445 % 4.200 m2
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X[ 00018 B&HR1-1 #A/KI PP ¢ 20 [HLEHS]

NO 4 #p,/ Bk -~k B g HAL FHER
1 A=y — Mgk T EHRT=L=2. 1
% 2.100 m
2 ARk —b EIR T=1=2. 1
150mm X 50m, &  2F547V A 7 & 2.100 m
3 AEERRGIET TA77 VMR Sl T =A% 2 = PR H A B N B =2, 1240
15ecmPA T " 4.200 m
4 FEEIGUE ST TR A VBT = (AR RS HIE I I+ AR BN L) %0, 023%
% 0.014 m3 #EEE=(2. 1%2+0)*0. 023%0. 15
5  EEERNEUELESGA BHO0.20m3 SRR T=IE R+ T AN =2, 1%0. 6+0
AHEEE10em 2 15em L T ” 1.260 m2
6 EEERNEUELELGA BHO0.20m3 SRR T=IE R+ T AN =2, 1%0. 6+0
EEEE10em L T % 1.260 m2
7 EH¥IEE] BHO0.20m3 PEHI THI=ZER+E*%E=2. 1%0. 6x0. 92
% 1.159 m3
8 EIKHLE (FEhkHE 5) BHO.20m3 PR B TUL=%E Forfig8=2. 10, 6%0. 42
Jyvar Hb R % 0.529 m3
9 ERKHLE (B FY) BHO.20m3 P B TU2=%E Foxfigs=2. 1%0. 6%0. 25
RC-408E B + &L 7S5 [H o & 0.315 m3
10 IR (B R) BHO.20m3 H T T US=%E Fesiligsize=2. 1%0. 6%0. 35
M-40HR 5 + & L S [ 6 % 0.441 m3
11 LR (FEAOH 5E) BHO.20m3 PR CHTRR ) =HE R+ T IR R=—1%2. 1%0. 001
7oiay bR % -0.002 m3
1o RERFERMALER As BER ALy (B HIER) =tk i i+ S =1. 26%0. 15
1% 0.189 m3
13 RERFEREMALER As BER ALy (AR 1R) =t i+ S =1. 26%0. 05
% 0.063 m3
14 FEFSMLPREEME BHO0.20m3 DTrat BERTE (BRHI) =M AR+ 2 X =1. 26%0. 15
AsHll - CoBl (##£4%) 0.5kmEA T DIDA ® 0.189 m3
15 PEFSMLPRMEME BHO0.20m3 DTr4t BERTER: (AE 1H) =i AR+ JE X =1. 26%0. 05
AsHL - CoBll (#4#5) 0.5kmLL F DIDA & 0.063 m3
16 F&E M BHO0.20m3 DTr4t 7 A 5E =11 50 +H253 ik T8R4 (I +ll ) -~ 54 =1. 15
+# 0.5kmPLF DIDA % 1.159 m3 9+0+0+00
17 HEET (HEE-HJE)Senl B A8 IR =3E Fo*ig+ i FE N5 =2. 1%0. 6+0
HAEBRIEAs T4 ® 1.260 m2
18 &hEET (HE-HJF) Seml B MG [A=JE F* Mg+ AN =2, 1%0. 6+0
AR EAs Hv7 % 1.260 m2
19 LB (FE-HE) iEE1L4mA; A H=FEE+E+HE AN E=2. 1%0. 6+0
BTS2 ENH RS R % 1.260 m2
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X 00019 EE#R1-1 #A/AKT PP ¢20 [HxEHE]
NO M &FR/ IR~k B g HAL FHER
1 AEERS — Mk L B R T=1=0. 5
% 0.500 m
2 ARk —b AR T=1=0. 5
150mm X 50m, &  2F547V A 7 & 0.500 m
3 AEERRGIET TA77 VMR Sl T =A% 2 = PR HI A BN B =0, 5%2+0
15ecmPA T " 1.000 m
4 FEEIGUE G T A VBT = (AR REHIE I I+ AR BN L) %0, 023%
% 0.001 m3 #EEE=(0.5%2+0)*0. 023%0. 03
5 EEERNEUELESGA BHO0.20m3 S LR T =2 R & + I AR N E=0. 5%0. 6+0
AHAEE10em L T ® 0.300 m2
6 EH¥IEE] BHO0.20m3 PEHI THI=ZER+hE*%E=0. 5%0. 6%1. 04
1% 0.312 m3
7 ERHLE (B 5D) BHO.20m3 PR B TUL=%E Fosfig8=0. 5%0. 6%0. 42
7 ay DL R % 0.126 m3
8 EISHLE (BEMkE 5) BHO.20m3 P B T U2=%E Fokfig8=0. 5%0. 6%0. 62
RC-40H i+ & 5 [ D 1% 0.186 m3
9 ERILER (BT R) BHO.20m3 PR BT HERR (HTER ) =JE 4% T i A =—1%0. 5%0. 001
s ay R HL R % -0.001 m3
10 HERFERMAMER As JFERA A5 (B IS ) =B i /B < =0. 3%0. 03
1% 0.009 m3
11 FEFSMLPREEME BHO0.20m3 DTrat BERTEH (R HI0) =Mk A+ B X =0. 3%0. 03
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.009 m3
12 F&E 3 BHO0.20m3 DTr4t 7 3B R=H1 57 +H2 53 +ik T80 55 (IS +ll ) — 54 =0. 31
+# 0.5kmPLF DIDA % 0.312 m3 2+0+0+00
13 & T (HE) 3eml fE AR IR =3 F*iig+ i FE N 5 =0. 5%0. 6+0
HAEBRIEAs T4 ® 0.300 m2
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X[ 00020 B&ER1I-1 #G7/KI PP ¢ 25 [HLEHS]

NO 4 #p,/ Bk -~k B g HAL FHER
1 A=y — Mgk T EHRT=L=2. 1
% 2.100 m
2 ARk —b EIR T=1=2. 1
150mm X 50m, &  2F547V A 7 & 2.100 m
3 AEERRGIET TA77 VMR Sl T =A% 2 = PR H A B N B =2, 1240
15ecmPA T " 4.200 m
4 FEEIGUE ST TR A VBT = (AR RS HIE I I+ AR BN L) %0, 023%
% 0.014 m3 #EEE=(2. 1%2+0)*0. 023%0. 15
5  EEERNEUELESGA BHO0.20m3 SRR T=IE R+ T AN =2, 1%0. 6+0
AHEEE10em 2 15em L T ” 1.260 m2
6 EEERNEUELELGA BHO0.20m3 SRR T=IE R+ T AN =2, 1%0. 6+0
EEEE10em L T % 1.260 m2
7 EH¥IEE] BHO0.20m3 PEHI THI=ZER+hE*%E=2. 1%0. 6%0. 93
% 1.172 m3
8 EIKHLE (FEhkHE 5) BHO.20m3 PR B TUL=4E Fofigs=2. 1%0. 6%0. 43
Jyvar Hb R % 0.542 m3
9 ERKHLE (B FY) BHO.20m3 P B TU2=%E Foxfigs=2. 1%0. 6%0. 25
RC-408E B + &L 7S5 [H o & 0.315 m3
10 IR (B R) BHO.20m3 H T T US=%E Fesiligsize=2. 1%0. 6%0. 35
M-40HR 5 + & L S [ 6 % 0.441 m3
11 LR (FEAOH 5E) BHO.20m3 PR CHTRR ) =HE R+ T IR R=—1%2. 1%0. 001
7oiay bR % -0.002 m3
1o RERFERMALER As BER ALy (B HIER) =tk i i+ S =1. 26%0. 15
1% 0.189 m3
13 RERFEREMALER As BER ALy (AR 1R) =t i+ S =1. 26%0. 05
% 0.063 m3
14 FEFSMLPREEME BHO0.20m3 DTrat BERTE (BRHI) =M AR+ 2 X =1. 26%0. 15
AsHll - CoBl (##£4%) 0.5kmEA T DIDA ® 0.189 m3
15 PEFSMLPRMEME BHO0.20m3 DTr4t BERTER: (AE 1H) =i AR+ JE X =1. 26%0. 05
AsHL - CoBll (#4#5) 0.5kmLL F DIDA & 0.063 m3
16 F&E M BHO0.20m3 DTr4t 7 1@ =11 50 +H253 ik T8R4y (s +l ) - S =1. 17
+# 0.5kmPLF DIDA % 1.172 m3 2+0+0+00
17 HEET (HEE-HJE)Senl B A8 IR =3E Fo*ig+ i FE N5 =2. 1%0. 6+0
HAEBRIEAs T4 ® 1.260 m2
18 &hEET (HE-HJF) Seml B MG [A=JE F* Mg+ AN =2, 1%0. 6+0
AR EAs Hv7 % 1.260 m2
19 LB (FE-HE) iEE1L4mA; A H=FEE+E+HE AN E=2. 1%0. 6+0
BTS2 ENH RS R % 1.260 m2
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X 00021 EEHR1-1 #A/AKT PP ¢25 [HxEHR]
NO M &FR/ IR~k B g HAL FHER
1 AEERS — Mk L B R T=1=0. 5
% 0.500 m
2 ARk —b AR T=1=0. 5
150mm X 50m, &  2F547V A 7 & 0.500 m
3 AEERRGIET TA77 VMR Sl T =A% 2 = PR HI A BN B =0, 5%2+0
15ecmPA T " 1.000 m
4 FEEIGUE G T A VBT = (AR REHIE I I+ AR BN L) %0, 023%
% 0.001 m3 #EEE=(0.5%2+0)*0. 023%0. 03
5 EEERNEUELESGA BHO0.20m3 S LR T =2 R & + I AR N E=0. 5%0. 6+0
AHAEE10em L T ® 0.300 m2
6 EH¥IEE] BHO0.20m3 PEHI THI=ZER+hE*%E=0. 5%0. 6%1. 05
1% 0.315 m3
7 ERHLE (B 5D) BHO.20m3 PR B TUL=%E Foxfig+42=0. 5%0. 6%0. 43
7 ay DL R % 0.129 m3
8 EISHLE (BEMkE 5) BHO.20m3 P B T U2=%E Fokfig8=0. 5%0. 6%0. 62
RC-40H i+ & 5 [ D 1% 0.186 m3
9 ERILER (BT R) BHO.20m3 PR BT HERR (HTER ) =JE 4% T i A =—1%0. 5%0. 001
s ay R HL R % -0.001 m3
10 HERFERMAMER As JFERA A5 (B IS ) =B i /B < =0. 3%0. 03
1% 0.009 m3
11 FEFSMLPREEME BHO0.20m3 DTrat BERTEH (R HI0) =Mk A+ B X =0. 3%0. 03
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.009 m3
12 F&E 3 BHO0.20m3 DTr4t 7 A 3ER=H1 50 +H2 57+ T 88 55 (IS +ll ) — 54 =0. 31
+# 0.5kmPLF DIDA % 0.315 m3 5+0+0+00
13 & T (HE) 3eml fE AR IR =3 F*iig+ i FE N 5 =0. 5%0. 6+0
HAEBRIEAs T4 ® 0.300 m2
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NO M &FR/ IR~k B g HAL FHER
1 EREERRUINT 7 A7 7 VMR Sl BT T =Eil 2 2 = PR B A BN B =0, 75%2+2
15ecmPA T " 3.500 m
2 ERRIGIRMLE ST T A LB = (AR RS HIE 1 I I+ AR BN L) %0, 023%
% 0.004 m3 #HEEE=(0.75%2+2)*0. 023%0. 05
3 SHSERNIUELAHA BHO0.20m3 SRR T =IE Fx g+ AN =0, 75%1+0
AHAEE10em LA T ® 0.750 m2
4 HREERREBUELUAA BHO0.20m3 SRR T =IE fo* g+ AN =0, 75%1+0
EEEE10em L T % 0.750 m2
5 LRHEY b BIRHIKHY PEHI THI=ZER+hE*%E=0. 75%1%0. 468
A ® 0.351 m3
6 EH¥IEE] BHO0.20m3 PEHI TH2=FE R+ #%E=0. 75%1%0. 702
1% 0.527 m3
7 ERHLE (B 5D) BHO.20m3 PR B TU1=%E Fokig8=0. 75%10. 82
7oy b R % 0.615 m3
8 EISHLE (BEMkE 5) BHO.20m3 P B T U2=%E Fokfig8=0. 75%1%0. 25
RC-408E B + & o 7S5 [E o 1% 0.188 m3
9 ERKHLE (B F) BHO.20m3 P B T US=%E Fosfig8=0. 75%1%0. 12
M-308E & + & o it [E] 6D ® 0.090 m3
10 IR (BT R) BHO.20m3 HH RS (BT = JE R+ Wi i A =— 10, 75%0. 011
Iyvar AR % -0.008 m3
11 REERFEREMALER As BERA AL Gy (B HIER) =t ik i i+ < =0. 75%0. 05
% 0.038 m3
1o RERFERMALER As BER ALy (AR IR =tk i i+ < =0. 75%0. 03
1% 0.023 m3
13 FEFSMLPRMEME BHO0.20m3 DTrat BERTE (BRHI) =M AR+ 2 X =0. 75%0. 05
AsBll - CoBll (#4%) 0.5kmLL N DIDA & 0.038 m3
14 FEFSMLPREEME BHO0.20m3 DTrat BERTER: (AE 1H) =i AR+ & X =0. 75%0. 03
AsHll - CoBl (##£4%) 0.5kmEA T DIDA ® 0.023 m3
15 F&E 1M BHO0.20m3 DTr4t 7 5B HR=H1 57 +H253 Hik T 88 55 (IS +ll ) — #5485 =0. 35
T/ 0.5kmLLF DIDA % 0.878 m3 1+0.527+0+00
16 Ei%ET (HEE-/F) 3cmlfE I8 IR =3E g+ A N 5 =0. 75%1+0
HABREAs 77445 % 0.750 m2
17 EiEET (FEE-HJE) 5emlfE AAE [H=HE F* Mg+ AN 5 =0. 75%1+0
HAEBRIEAs T4 ® 0.750 m2
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NO M &FR/ IR~k B g HAL FHER
1 EREERRUINT 7 A7 7 VMR Sl BT T =Eil 2 2 = PR B A BN B =0, 75%2+2
15ecmPA T " 3.500 m
2 ERRIGIRMLE ST W) A LB = (AR REHIE 1 I I+ AR BN L) %0, 023%
% 0.012 m3 #HEEE=(0. 75%2+2)*0. 023%0. 15
3 ARLERNTUELFA BHO0.20m3 LR T =5 E-xig+ E B NG =0. 75%1+0
AHEEE10em 2 15em L T ” 0.750 m2
4 EHFEERNEUELURNA BH0.20m3 LR T =5 E-xig+ E B NN A =0. 75%1+0
EEEE10em L T % 0.750 m2
5 LRHEY b BIRHIKHY PEHI THI=ZER+hE*%E=0. 75%1%0. 488
A ® 0.366 m3
6 EH¥IEE] BHO0.20m3 PEHI TH2=FE R+ #%E=0. 75%1%0. 732
1% 0.549 m3
7 ERHLE (B 5D) BHO.20m3 PR B TU1=%E Fokig8=0. 75%1%0. 72
7oy b R % 0.540 m3
8 EISHLE (BEMkE 5) BHO.20m3 P B T U2=%E Fokfig8=0. 75%1%0. 25
RC-408E B + & o 7S5 [E o 1% 0.188 m3
9 ERKHLE (B F) BHO.20m3 P B T US=%E Foxfig8=0. 75%1%0. 35
M-403E & + & o it [E] 6D ® 0.263 m3
10 IR (BT R) BHO.20m3 HH RS (BT = JE R+ Wi i A =— 10, 75%0. 011
Iyvar AR % -0.008 m3
11 REERFEREMALER As BERA AL Gy (B HIER) =tk i i+ < =0. 75%0. 15
% 0.113 m3
1o RERFERMALER As BER ALy (AR IR =t i+ < =0. 75%0. 05
1% 0.038 m3
13 FEFSMLPRMEME BHO0.20m3 DTrat BERTE (BRHI) =M rmmAg+ & X =0. 75%0. 15
AsBll - CoBll (#4%) 0.5kmLL N DIDA & 0.113 m3
14 FEFSMLPREEME BHO0.20m3 DTrat BERTE: (AE 1H) =i AR+ X =0. 75%0. 05
AsHll - CoBl (##£4%) 0.5kmEA T DIDA ® 0.038 m3
15 F&E 1M BHO0.20m3 DTr4t 7 5B R=H1 57 +H2 53 Hik T 88 55 (IS +Hll ) 54 =0. 36
T/ 0.5kmLLF DIDA % 0.915 m3 6+0.549+0+00
16 Ei%ET (HEE-/F) 5emlfE I8 IR =3E g+ A N 5 =0. 75%1+0
HABREAs 77445 % 0.750 m2
17 EiEET (FEE-HJF) SemlfE AAE [H=HE F* Mg+ AN 5 =0. 75%1+0
BAEBRIEAs Xy % 0.750 m2
18 LR T (FOE-HH) 08B 1L4mAH; MG [H=HE F* Mg+ AN 5 =0. 75%1+0
FHAEE RS R % 0.750 m2
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NO M &FR/ IR~k B g HAL FHER
1 EREERRUINT 7 A7 7 VMR Sl BT T =Eil 2 2 = PR B A BN B =0, 75%2+2
15ecmPA T " 3.500 m
2 ERRIGIRMLE ST T A LB = (AR RS HIE 1 I I+ AR BN L) %0, 023%
% 0.004 m3 #HEEE=(0.75%2+2)*0. 023%0. 05
3 SHSERNIUELAHA BHO0.20m3 SRR T =IE Fx g+ AN =0, 75%1+0
AHAEE10em LA T ® 0.750 m2
4 HREERREBUELUAA BHO0.20m3 SRR T =IE fo* g+ AN =0, 75%1+0
EEEE10em L T % 0.750 m2
5 LRHEY b BIRHIKHY PEHI THI=ZER+hE*%E=0. 75%1%0. 528
A ® 0.396 m3
6 EH¥IEE] BHO0.20m3 PEHI TH2=FE R+ #%E=0. 75%1%0. 792
1% 0.594 m3
7 ERHLE (B 5D) BHO.20m3 PR B TU1=%E Fokig8=0. 75%10. 82
7oy b R % 0.615 m3
8 EISHLE (BEMkE 5) BHO.20m3 P B T U2=%E Fokfig8=0. 75%1%0. 35
RC-408E B + & o 7S5 [E o 1% 0.263 m3
9 ERKHLE (B F) BHO.20m3 P B T US=%E Fosig8=0. 75%1%0. 17
M-308E & + & o it [E] 6D ® 0.128 m3
10 IR (BT R) BHO.20m3 HH RS (BT = JE R+ Wi i A =— 10, 75%0. 011
Iyvar AR % -0.008 m3
11 REERFEREMALER As BERA AL Gy (B HIER) =t ik i i+ < =0. 75%0. 05
% 0.038 m3
1o RERFERMALER As BER ALy (AR IR =tk i i+ < =0. 75%0. 03
1% 0.023 m3
13 FEFSMLPRMEME BHO0.20m3 DTrat BERTE (BRHI) =M AR+ 2 X =0. 75%0. 05
AsBll - CoBll (#4%) 0.5kmLL N DIDA & 0.038 m3
14 FEFSMLPREEME BHO0.20m3 DTrat BERTER: (AE 1H) =i AR+ & X =0. 75%0. 03
AsHll - CoBl (##£4%) 0.5kmEA T DIDA ® 0.023 m3
15 F&E 1M BHO0.20m3 DTr4t 7 5B R=H1 57 +H2 53 Hik T 88 45 (IS +ll ) — #5485 =0. 39
T/ 0.5kmLLF DIDA % 0.990 m3 6+0.594+0+00
16 Ei%ET (HEE-/F) 3cmlfE I8 IR =3E g+ A N 5 =0. 75%1+0
HABREAs 77445 % 0.750 m2
17 EiEET (FEE-HJE) 5emlfE AAE [H=HE F* Mg+ AN 5 =0. 75%1+0
HAEBRIEAs T4 ® 0.750 m2
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NO M &FR/ IR~k B g HAL FHER
1 EREERRUINT 7 A7 7 VMR Sl G T =A% 2 = R H A BN =0, 75%2+1. 8
15ecmPA T " 3.300 m
2 ERRIGIRMLE ST W) A LB = (B REAIE I I+ AN BN L) %0, 023%
% 0.011 m3 &HEEE=(0. 75%2+1. 8)*0. 023%0. 15
3 SHEERNIUELAHA BHO0.20m3 EREIR I T =3 f* g+ T AN 5=0. 75%0. 9+0
AHEEE10em 2 15em L T ” 0.675 m2
4 HREERREBUELUAA BHO0.20m3 SRR T =3 R+ T AN 5=0. 75%0. 9+0
EEEE10em L T % 0.675 m2
5 LRHEY b BIRHIKHY PEHI THI=ZER+hE*%E=0. 75%0. 9%0. 696
A ® 0.470 m3
6 EH¥IEE] BHO0.20m3 PEHI TH2=2E R +E#%E=0. 75%0. 9%1. 044
1% 0.705 m3
7 R (RS AR - B ) RARR: + 88 T=3EFK=0. 75
1.8m<HMHNE=2.0m Nv/tU5|#k & 0.750 m
8 EIKHLE (FEhkHE 5) BHO.20m3 PR B TUL=%E Foxfigx4=0. 75%0. 9%0. 79
Jyvar Hb R % 0.533 m3
9 ERKHLE (B FY) BHO.20m3 P B T U2=%E Fowfigis42=0. 75%0. 9%0. 7
RC-408E B + &L 7S5 [H o & 0.473 m3
10 IR (B R) BHO.20m3 PR 5T T US=%E M@ #8=0. 75%0. 9%0. 35
M-40HR 5 + & L S [ 6 % 0.236 m3
11 EFRIR (B R) BHO.20m3 RS (TR ) =B+ T T F=—1%0. 75%0. 006
7oy bR % -0.005 m3
1o RERFERMALER As BERA AL Gy (B IR ) =HB A thi Fip+ 2. £ =0. 675%0. 15
1% 0.101 m3
13 RERFEREMALER As B BER ALy (AR 1R =HB A thi Fipx = X =0. 675%0. 05
% 0.034 m3
14 FEFSMLPREEME BHO0.20m3 DTrat BERTE (R HI0) = ki A+ 8 £ =0. 675%0. 15
AsHll - CoBl (##£4%) 0.5kmEA T DIDA ® 0.101 m3
15 PEFSMLPRMEME BHO0.20m3 DTr4t BERTE (AR 1B) =k A8 £ =0. 675%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.034 m3
16 F&E M BHO0.20m3 DTr4t 7 5B HR=H1 50 +H253 ik 88 5 (I +ll )~ 548 =0. 47
+# 0.5kmPLF DIDA % 1.175 m3 +0.705+0+00
17 HEET (HEE-HJE)Senl B A8 IR =3 F*ig+ i FE N R =0. 75%0. 9+0
HAEBRIEAs T4 ® 0.675 m2
18 &hEET (HE-HJF) Seml B MG [H=E F* g+ AN 5 =0. 75%0. 9+0
AR EAs Hv7 % 0.675 m2
19 LB (FE-HE) iEE1L4mA; AAE H=4E K H+E+EAE NN B =0. 75%0. 9+0
BTS2 ENH RS R % 0.675 m2
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NO 4 #p,/ Bk -~k B g HAL FHER
1 AHEERREINT T AT 7 VMR Sl G T =A% 2 = R H A BN =0, 75%2+1. 8
15ecmPA T " 3.300 m
2 ERRIGIRMLE SO T A LB = (B REHIE I I+ AR BN L) %0, 023%
% 0.004 m3 EHEEE=(0.75%2+1. 8)*0. 023%0. 05
3 SHSERNIUELAHA BHO0.20m3 EREIR I T =3 f* g+ T AN 5=0. 75%0. 9+0
AHAEE10em LA T ® 0.675 m2
4 HREERREBUELUAA BHO0.20m3 SRR T =3 R+ T AN 5=0. 75%0. 9+0
EEEE10em L T % 0.675 m2
5 EH¥IEE! BHO0.20m3 PEHI THI=ZER+hE*%E=0. 75%0. 9%0. 616
% 0.416 m3
6 EH¥IEE] BHO0.20m3 PEHI TH2=E e +E#%E=0. 75%0. 9%0. 924
1% 0.624 m3
7 R (R AR - B T) R TR T=EK=0.75
L5m<HHHNE=1.8m ~Nv/iU5|#k ® 0.750 m
8 EIKHLE (FEhkHE 5) BHO.20m3 PR B TUL=%E Foxfigx4=0. 75%0. 9%0. 79
Jyvar Hb R % 0.533 m3
9 ERKHLE (B FY) BHO.20m3 P B TU2=%E Feoxfig+42=0. 75%0. 9%0. 65
RC-408E B + &L 7S5 [H o & 0.439 m3
10 IR (B R) BHO.20m3 PR 5T T US=%E M #Z8=0. 75%0. 9%0. 12
M-30H &+ &> S [E 5 % 0.081 m3
11 LR (FEAOH 5E) BHO.20m3 BB EE PR GRS ) =JiE s I 17 ii=—1%0. 75%0. 006
7oiay bR % -0.005 m3
1o RERFERMALER As BERA AL 5y (HE 1) =REcAPR [ A 5L S =0. 675%0. 05
1% 0.034 m3
13 RERFEREMALER As JFER ALy (AR IR) =B Fip = X =0. 675%0. 03
% 0.020 m3
14 FEFSMLPREEME BHO0.20m3 DTrat BEREHE (R EIER) =i A+ 2 X =0. 675%0. 05
AsHll - CoBl (##£4%) 0.5kmEA T DIDA ® 0.034 m3
15 PEFSMLPRMEME BHO0.20m3 DTr4t BERTE: (AR 1B) =k A8 £ =0. 675%0. 03
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.020 m3
16 F&E M BHO0.20m3 DTr4t 7 5B R=H1 57 +H2 53+ T 88 55 (IS +Hll ) — 54 =0. 41
+# 0.5kmPA T DIDA % 1.040 m3 6+0.624+0+00
17 HEET (HEE-HE)3cnlfE A8 IR =3 F*ig+ i FE N R =0. 75%0. 9+0
HAEBRIEAs T4 ® 0.675 m2
18 &hEET (HE-#JF) Seml B MG [H=E F* g+ AN 5 =0. 75%0. 9+0
HABREAs 77445 % 0.675 m2
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NO M &FR/ IR~k B g HAL FHER
1 EREERRUINT 7 A7 7 VMR Sl BT T =El 2 2 = R H A B N B = 15242, 4
15ecmPA T " 4.400 m
2 ERRIGIRMLE ST TR A VPR = (B REHIE I I+ AR BN L) %0, 023%
% 0.015 m3 ZWEEE=(1%2+2. 4) %0. 023%0. 15
3 SHEERNIUELAHA BHO0.20m3 SRR T=IE R g+ AN =1%1. 2+0
AHEEE10em 2 15em L T ” 1.200 m2
4 HREERREBUELUAA BHO0.20m3 SRR T=IE B g+ AN =1%1. 2+0
EEEE10em L T % 1.200 m2
5 KIEY TR BUIRHIKIHY PEHI THI=ZER+iE*E=1%1. 2%0. 748
A ® 0.898 m3
6 EH¥IEE] BHO0.20m3 PEHI TH2=AE RexiE#E=1%1. 2%1. 122
1% 1.346 m3
7 R (RS AR - B )RR T T=ER=1
2.0m<HHNE=2.3m ~v/tU5|Hk ® 1.000 m
8 EIKHLE (FEhkHE 5) BHO.20m3 PR B TUL=%E FokigsE=1%1. 2%0. 97
Jyvar Hb R % 1.164 m3
9 ERKHLE (B FY) BHO.20m3 P B TU2=%E FokigsZE=1%1. 2%0. 65
RC-408E B + &L 7S5 [H o & 0.780 m3
10 IR (B R) BHO.20m3 PR B TUS=3E el E=1%1. 2%0. 35
M-40HR 5 + & L S [ 6 % 0.420 m3
11 EFRIR (B R) BHO.20m3 R HERR CHTRR ) =JE 4% Wi i =—1%1%0. 058
7oy bR % -0.058 m3
1o RERFERMALER As BERA AL Gy (B HIER) =t et i+ S =1. 2%0. 15
1% 0.180 m3
13 RERFEREMALER As BERAL Sy (AR 1) =Rk Thi A X =1. 2%0. 05
% 0.060 m3
14 FEFSMLPREEME BHO0.20m3 DTrat BERTEH (R HIE) =Mk m A8 X =1. 2%0. 15
AsHll - CoBl (##£4%) 0.5kmEA T DIDA ® 0.180 m3
15 PEBSALFRLYERE BHO0.20m3 DTr4t BERTE (A8 1B) =k im A8 X =1. 2%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.060 m3
16 F&E M BHO0.20m3 DTr4t 7 5@ =11 57 +H253 +Hik T 88 55 (IS +ll ) — #5485 =0. 89
+# 0.5kmPLF DIDA % 2.244 m3 8+1.346+0+00
17 EiEET (FEE-HJE) 5emlfE A8 IR =%E E*ig+ N R =1%1. 2+0
HAEBRIEAs T4 ® 1.200 m2
18 Ei%ET (FEE-HJF) SemlfE AAE [H=IE F* Mg+ AN F=1%1. 2+0
AR EAs Hv7 % 1.200 m2
19 LB (FE-HE) iEE1L4mA; A1E [H=IE F* Mg+ AN F=1%1. 2+0
BTS2 ENH RS R % 1.200 m2
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NO M &FR/ IR~k B g HAL FHER
1 EREERRUINT 7 A7 7 VMR Sl BT T =El 2 2 = R H A B N B = 15242, 4
15ecmPA T " 4.400 m
2 ERRIGIRMLE ST TR A VPR = (B REHIE I I+ AR BN L) %0, 023%
% 0.015 m3 ZWEEE=(1%2+2. 4) %0. 023%0. 15
3 SHEERNIUELAHA BHO0.20m3 SRR T=IE R g+ AN =1%1. 2+0
AHEEE10em 2 15em L T ” 1.200 m2
4 HREERREBUELUAA BHO0.20m3 SRR T=IE B g+ AN =1%1. 2+0
EEEE10em L T % 1.200 m2
5 KIEY TR BUIRHIKIHY PEHI THI=ZER+E*E=1%1. 2%0. 588
A ® 0.706 m3
6 EH¥IEE] BHO0.20m3 PEHI TH2=FE Re+E*%E=1%1. 2%0. 882
1% 1.058 m3
7 R (RS AR - B 1) RARR: T T=ER=1
L5m<HHHNE=1.8m ~Nv/iU5|#k ® 1.000 m
8 EIKHLE (FEhkHE 5) BHO.20m3 PR B TUL=%E FokigsE=1%1. 2%0. 97
Jyvar Hb R % 1.164 m3
9 ERKHLE (B FY) BHO.20m3 P B TU2=%E FokigsZB=1%1. 2%0. 25
RC-408E B + &L 7S5 [H o & 0.300 m3
10 IR (B R) BHO.20m3 PR B TUS=3E el E=1%1. 2%0. 35
M-40HR 5 + & L S [ 6 % 0.420 m3
11 EFRIR (B R) BHO.20m3 R HERR CHTRR ) =JE 4% Wi i =—1%1%0. 058
7oy bR % -0.058 m3
1o RERFERMALER As BERA AL Gy (B HIER) =t et i+ S =1. 2%0. 15
1% 0.180 m3
13 RERFEREMALER As BERAL Sy (AR 1) =Rk Thi A X =1. 2%0. 05
% 0.060 m3
14 FEFSMLPREEME BHO0.20m3 DTrat BERTEH (R HIE) =Mk m A8 X =1. 2%0. 15
AsHll - CoBl (##£4%) 0.5kmEA T DIDA ® 0.180 m3
15 PEBSALFRLYERE BHO0.20m3 DTr4t BERTE (A8 1B) =k im A8 X =1. 2%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.060 m3
16 F&E M BHO0.20m3 DTr4t 7 3B R=H1 57 +H2 55 Hik T 88 55 (IS +Hll ) £ 4 =0. 70
+# 0.5kmPLF DIDA % 1.764 m3 6+1. 058+0+00
17 EiEET (FEE-HJE) 5emlfE A8 IR =%E E*ig+ N R =1%1. 2+0
HAEBRIEAs T4 ® 1.200 m2
18 Ei%ET (FEE-HJF) SemlfE AAE [H=IE F* Mg+ AN F=1%1. 2+0
AR EAs Hv7 % 1.200 m2
19 LB (FE-HE) iEE1L4mA; A1E [H=IE F* Mg+ AN F=1%1. 2+0
BTS2 ENH RS R % 1.200 m2
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NO 4 #p,/ Bk -~k B g HAL FHER
1 AHEERREINT T AT 7 VMR Sl G T =A% 2 = R H A BN =0, 75%2+1. 8
15ecmPA T " 3.300 m
2 ERRIGIRMLE SO T A LB = (B REHIE I I+ AR BN L) %0, 023%
% 0.004 m3 EHEEE=(0.75%2+1. 8)*0. 023%0. 05
3 SHSERNIUELAHA BHO0.20m3 EREIR I T =3 f* g+ T AN 5=0. 75%0. 9+0
AHAEE10em LA T ® 0.675 m2
4 HREERREBUELUAA BHO0.20m3 SRR T =3 R+ T AN 5=0. 75%0. 9+0
EEEE10em L T % 0.675 m2
5 LRHEY b BIRHIKHY PEHI THI=ZER+hE*%E=0. 75%0. 9%0. 656
A ® 0.443 m3
6 EH¥IEE] BHO0.20m3 PEHI TH2=4E = +E#%E=0. 75%0. 9%0. 984
1% 0.664 m3
7 R (R AR - B T) R TR T=EK=0.75
L5m<HHHNE=1.8m ~Nv/iU5|#k ® 0.750 m
8 EIKHLE (FEhkHE 5) BHO.20m3 PR B TUL=%E Foxfigx4=0. 75%0. 9%0. 79
Jyvar Hb R % 0.533 m3
9 ERKHLE (B FY) BHO.20m3 P B TU2=%E Feoxfig+42=0. 75%0. 9%0. 75
RC-408E B + &L 7S5 [H o & 0.506 m3
10 IR (B R) BHO.20m3 PR 5T T US=%E M #Z8=0. 75%0. 9%0. 12
M-30HL 5 + & L S [ 6 % 0.081 m3
11 LR (FEAOH 5E) BHO.20m3 BB EE PR GRS ) =JiE s I 17 ii=—1%0. 75%0. 006
7oiay bR % -0.005 m3
1o RERFERMALER As BERA AL 5y (HE 1) =REcAPR [ A 5L S =0. 675%0. 05
1% 0.034 m3
13 RERFEREMALER As B JFER ALy (AR IR) =B Fip = X =0. 675%0. 03
% 0.020 m3
14 FEFSMLPREEME BHO0.20m3 DTrat BERTEH (R HI) =k i A+ B £ =0. 675%0. 05
AsHll - CoBl (##£4%) 0.5kmEA T DIDA ® 0.034 m3
15 PEFSMLPRMEME BHO0.20m3 DTr4t BERTE: (AR 1B) =k A8 £ =0. 675%0. 03
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.020 m3
16 F&E M BHO0.20m3 DTr4t 7 3@ =1 57 +H2 53 +ik T80 55 (IS Hll ) 54 =0. 44
+# 0.5kmPLF DIDA % 1.107 m3 3+0.664+0+00
17 HEET (HEE-HE)3cnlfE A8 IR =3 F*ig+ i FE N R =0. 75%0. 9+0
HAEBRIEAs T4 ® 0.675 m2
18 &hEET (HE-#JF) Seml B MG [H=E F* g+ AN 5 =0. 75%0. 9+0
HABREAs 77445 % 0.675 m2
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NO M &FR/ IR~k B g HAL FHER
1 EREERRUINT 7 A7 7 VMR Sl BT T =El 2 2 = R H A B N B = 15242, 4
15ecmPA T " 4.400 m
2 ERRIGIRMLE ST TR A VPR = (B REHIE I I+ AR BN L) %0, 023%
% 0.015 m3 ZWEEE=(1%2+2. 4) %0. 023%0. 15
3 SHEERNIUELAHA BHO0.20m3 SRR T=IE R g+ AN =1%1. 2+0
AHEEE10em 2 15em L T ” 1.200 m2
4 HREERREBUELUAA BHO0.20m3 SRR T=IE B g+ AN =1%1. 2+0
EEEE10em L T % 1.200 m2
5 EH¥IEE! BHO0.20m3 PEHI THI=ZER+E*E=1%1. 2%0. 588
% 0.706 m3
6 EH¥IEE] BHO0.20m3 PEHI TH2=AE Re+E#%E=1%1. 2%0. 822
1% 0.986 m3
7 R (RS AR - B 1) RARR: T T=ER=1
L5m<HHHNE=1.8m ~Nv/iU5|#k ® 1.000 m
8 EIKHLE (FEhkHE 5) BHO.20m3 PR B TUL=%E FokigsE=1%1. 2%0. 97
Jyvar Hb R % 1.164 m3
9 ERKHLE (B FY) BHO.20m3 P B TU2=%E FokigsZB=1%1. 2%0. 25
RC-408E B + &L 7S5 [H o & 0.300 m3
10 IR (B R) BHO.20m3 PR B TUS=3E el E=1%1. 2%0. 35
M-40HR 5 + & L S [ 6 % 0.420 m3
11 EFRIR (B R) BHO.20m3 R HERR CHTRR ) =JE 4% Wi i =—1%1%0. 058
7oy bR % -0.058 m3
1o RERFERMALER As BERA AL Gy (B HIER) =t et i+ S =1. 2%0. 15
1% 0.180 m3
13 RERFEREMALER As BERAL Sy (AR 1) =Rk Thi A X =1. 2%0. 05
% 0.060 m3
14 FEFSMLPREEME BHO0.20m3 DTrat BERTEH (R HIE) =Mk m A8 X =1. 2%0. 15
AsHll - CoBl (##£4%) 0.5kmEA T DIDA ® 0.180 m3
15 PEBSALFRLYERE BHO0.20m3 DTr4t BERTE (A8 1B) =k im A8 X =1. 2%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.060 m3
16 F&E M BHO0.20m3 DTr4t 7 5B R=H1 57 +H255 +ik T 88 55 (IS +Hll ) 54 =0. 70
+# 0.5kmPLF DIDA % 1.692 m3 6+0.986+0+00
17 EiEET (FEE-HJE) 5emlfE A8 IR =%E E*ig+ N R =1%1. 2+0
HAEBRIEAs T4 ® 1.200 m2
18 Ei%ET (FEE-HJF) SemlfE AAE [H=IE F* Mg+ AN F=1%1. 2+0
AR EAs Hv7 % 1.200 m2
19 LB (FE-HE) iEE1L4mA; A1E [H=IE F* Mg+ AN F=1%1. 2+0
BTS2 ENH RS R % 1.200 m2
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31 H

X 20001 #HETOD
NO M &FR/ IR~k B g HAL FHER
1 AHEERREINT T AT 7 VMR Sl BT T =Eil 2 PR B A B N B = 1%2+2
15ecmPA T " 4.000 m
2 ERRIGIRMLE ST T A VBT = (AR REHIE I I+ AN BN L) %0, 023%
% 0.005 m3 &HHZEE=(1%2+2)*0. 023%0. 05
3 SHSERNIUELAHA BHO0.20m3 EREIR A T =3 R+ T AN B =1%1+0
AHAEE10em LA T ® 1.000 m2
4 FR¥Ev +w BIRHIRHY PR THI=ZE e * g +E=1%1%0. 5
A1 ® 0.500 m3
5 EH¥IEE! BHO0.20m3 PEHI TH2=E e+ *%E=1%1%0. 75
% 0.750 m3
6 &SR (B 5) BHO.20m3 B T UL =3 el B=1%1%1. 27
RC-408E & + & o 7S5 [ 6 % 1.270 m3
7 ERSHLE (ML) BHO.20m3 PR PR CHTRR ) =2E o8 W T fii=— 1% 1%0. 006
RC—408H 52+ % /< [E ® -0.006 m3
8  FREVEEMILE As BER ALy (B AR =Rl Ak i A X =1%0. 05
1% 0.050 m3
9 FEFESMLPRMEME BHO0.20m3 DTr4t BERTE: (B A =M AR+ 2 X =1%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.050 m3
10 F&E W BHO0.20m3 DTr4t 7 5B HR=H1 57 +H253 ik T 88 5 (IS Hll ) — 54 =0. 5+
+# 0.5kmPLF DIDA % 1.250 m3 0.75+0+00
11 Ef%ET (HEE-/F) 3cmlfE A8 IR =3 Fo* g+ i FE N B =1%1+0
HAEBRIEAs T4 ® 1.000 m2




T THEHAEE

(TEr#— 8 ) Bl /KB AT ek Lo
B 1 - 2 BlKEAER L[]

32 H

X 20002 IR T.O
NO M &FR/ IR~k B g HAL FHER
1 EREERRUINT 7 A7 7 VMR Sl B T =A% 2 = IR H A BN B =1, 5%2+2
15ecmPA T " 5.000 m
2 ERRIGIRMLE ST T A VBT = (B REHIE I I+ AR BN L) %0, 023%
% 0.017 m3 #HEEE=(1.5%2+2)*0. 023%0. 15
3 SHEERNIUELAHA BHO0.20m3 SRR T=IE B g+ AN =1, 5*1+0
AHEEE10em 2 15em L T ” 1.500 m2
4 FR¥Ev +w BIRHIRHY R THI=3E g« E=1. 5%1%0. 52
A1 ® 0.780 m3
5 EH¥IEE! BHO0.20m3 PEHI TH2=2E R+E*%E=1. 5%1%0. 78
% 1.170 m3
6 B ISHEE (BhkHE 5D) BHO.20m3 B TUL=E Fofigsig=1. 5x1%1. 4
RC-40H i+ &> 55 [ D 1% 2.100 m3
7 BRI (MM RT) BHO.20m3 R GAERR G &) =ik oo+ I AT Ai=— 1% 1. 5%0. 058
RC—40H L+ & 55 [ D % -0.087 m3
8 TEFXBEIEMMLIR As BERF ALy (BRHIER) =k A+ 8 X =1. 5%0. 15
1% 0.225 m3
9 PEREALEREME BH0.20m3 DTr4t BERA e (B 130 =R A i A2 X =1. 5%0. 15
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.225 m3
10 F&E W BHO0.20m3 DTr4t 7 5B R=H1 57 +H253 Hik T 88 55 (I +ll ) -~ 54 =0. 78
+# 0.5kmPLF DIDA % 1.950 m3 +1.17+0+00
11 Ef%ET (HEE-/F) 5eml fE A8 IR =FE F*ig+ N H=1. 5%1+0
HAEBRIEAs T4 ® 1.500 m2
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NO 4 #p,/ Bk -~k B g HAL FHER
1 EEERRUINT 7 A7 7 VMR Sl B T =A% 2 = IR H A BN B =1, 5%2+2
15ecmPA T " 5.000 m

2 REERIGIRALITHE

EHTE 7)) N AL B = (AR AEE 2 A R A ES N D) 0. 0235

% 0.017 m3 #HEEE=(1.5%2+2)*0. 023%0. 15
3 R R BIHIKHY R THI=3E g« E=1. 5%1%0. 38
A ® 0.570 m3
4 ERYEA] BHO.20m3 PEHI TH2=FE RexE*%E=1. 5%1%0. 57
1% 0.855 m3
5 EBKEEGT (BEARIR) BHO.20m3 BELBE TUL=AE RexiisifE=1. 511, 05
RC—408H 52+ % /< [E ® 1.575 m3
6 EEIE (BT E)BH0.20m3 PR BT HERR (TR ) = e+ T i A= 1%1. 5%0. 007
RC-40H 5L+ 4> 7 i [ 3D % -0.011 m3
7 REERPEIEWALER As BERF ALy (BRHIER) =k A+ 8 X =1. 5%0. 15
% 0.225 m3
8 PEFSMLPRMEME BHO0.20m3 DTrat BERTEH (R HI0) =Mk A8 X =1. 5%0. 15
AsHll - CoBl (##£47) 0.5kmEA T DIDA ® 0.225 m3
9  F&E M BHO0.20m3 DTr4t 7 5B HR=H1 50 +H2 53 ik T 88 4 (IS +ll )~ 54 =0. 57
+# 0.5kmLLF DIDA % 1.425 m3 +0.855+0+00

10 Ef%E T (HE-¥)E) 5eml B
HABREAs 77445 % 1.500 m2

A8 IR =FE F*ig+ N H=1. 5%1+0




T THEHAEE

(TEr#— 8 ) Bl /KB AT ek Lo
B 1 - 2 BlKEAER L[]

34 H

X 20004 F¥ET@
NO M &FR/ IR~k B g HAL FHER
1 EREERRUINT 7 A7 7 VMR Sl B T =A% = IR H A BN B =1, 5%2+4
15ecmPA T " 7.000 m
2 ERRIGIRMLE G T A VPR = (AR RS HIE I A+ AR BN L) %0, 023%
% 0.024 m3 #EEE=(1.5%2+4)*0. 023%0. 15
3 SHEERNIUELAHA BHO0.20m3 AR T=IE B g+ AN =1, 5%2+0
AHEEE10em 2 15em L T ” 3.000 m2
4 FR¥Ev +w BIRHIRHY R THI=3E R« E=1. 5%2%0. 46
A1 ® 1.380 m3
5 EH¥IEE! BHO0.20m3 PEHI TH2=4E R+E*%E=1. 5%2%0. 69
% 2.070 m3
6 B ISHEE (BhkHE 5D) BHO.20m3 HEEE TUL=%E FokigsB=1. 5%2%1. 25
RC-40H i+ &> 55 [ D 1% 3.750 m3
7 BRI (MM RT) BHO.20m3 R BAERR CRTas &) =ik o+ I 1A A= 1% 1. 5%0. 006
RC—40H L+ & 55 [ D % -0.009 m3
8  FREVEEMILE As BERA ALy (B AR =Rl ik i A X =3%0. 15
1% 0.450 m3
9 PEREALEREME BH0.20m3 DTr4t BERTE: (B A =M Ag+ 2 X =3%0. 15
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.450 m3
10 F&E W BHO0.20m3 DTr4t 7 5B R=H1 57 +H253 ik 88 5 (I +ll ) -~ 54 =1. 38
+# 0.5kmPLF DIDA % 3.450 m3 +2.07+0+00
11 Ef%ET (HEE-/F) 5eml fE A8 IR =FE F*ig+ N H=1. 5%2+0
HAEBRIEAs T4 ® 3.000 m2




T THEHAEE

(TEr#— 8 ) Bl /KB AT ek Lo
B 1 - 2 BlKEAER L[]

35 H

X 20005 FHE TG
NO M &FR/ IR~k B g HAL FHER
1 EREERRUINT 7 A7 7 VMR Sl B T =A% = IR H A BN B =1, 5%2+4
15ecmPA T " 7.000 m
2 ERRIGIRMLE G T A VPR = (AR RS HIE I A+ AR BN L) %0, 023%
% 0.024 m3 #EEE=(1.5%2+4)*0. 023%0. 15
3 SHEERNIUELAHA BHO0.20m3 AR T=IE B g+ AN =1, 5%2+0
AHEEE10em 2 15em L T ” 3.000 m2
4 FR¥Ev +w BIRHIRHY PRI THI=3E R« E=1. 5%2%0. 48
A1 ® 1.440 m3
5 EH¥IEE! BHO0.20m3 PEHI TH2=AERe+E*%E=1. 5%2%0. 72
% 2.160 m3
6 B ISHEE (BhkHE 5D) BHO.20m3 B TUL=4E eofigsif=1. 5%2%1. 3
RC-408E & + & o 7S5 [ 6 1% 3.900 m3
7 BRI (LA BHO.20m3 HRBPERR CRTa% ) =2 R+ T i fii=—1%1. 5%0. 011
RC-408E B + & o 7S5 [E o % -0.017 m3
8  FREVEEMILE As BERA ALy (B AR =Rl ik i A X =3%0. 15
1% 0.450 m3
9 PEREALEREME BH0.20m3 DTr4t BERTE: (B A =M Ag+ 2 X =3%0. 15
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.450 m3
10 F&E W BHO0.20m3 DTr4t 7 5B R=H1 57 +H2 53 ik T 88 4 (IS Hll ) — S =1. 44
+# 0.5kmPLF DIDA % 3.600 m3 +2.16+0+00
11 Ef%ET (HEE-/F) 5eml fE A8 IR =FE F*ig+ N H=1. 5%2+0
HAEBRIEAs T4 ® 3.000 m2




T THEHAEE

(TEr#— 8 ) Bl /KB AT ek Lo
B 1 - 2 BlKEAER L[]

36 H

X 20006 FHET.6)
NO M &FR/ IR~k B g HAL FHER
1 EREERRUINT 7 A7 7 VMR Sl B T =A% 2 = IR H A BN B =1, 5%2+2
15ecmPA T " 5.000 m
2 ERRIGIRMLE ST T A VBT = (B REHIE I I+ AR BN L) %0, 023%
% 0.017 m3 #HEEE=(1.5%2+2)*0. 023%0. 15
3 SHEERNIUELAHA BHO0.20m3 SRR T=IE B g+ AN =1, 5*1+0
AHEEE10em 2 15em L T ” 1.500 m2
4 FR¥Ev +w BIRHIRHY PRI THI=3E g« E=1. 5%1%0. 54
A1 ® 0.810 m3
5 EH¥IEE! BHO0.20m3 PEHI TH2=FE R+l +E=1. 5%1%0. 81
% 1.215 m3
6 B ISHEE (BhkHE 5D) BHO.20m3 HREE TUL=%E FoigB=1. 5% 1%1. 45
RC-40H i+ &> 55 [ D 1% 2.175 m3
7 BRI (MM RT) BHO.20m3 R BAERR CRTas &) =ik o+ I 1A A= 1% 1. 5%0. 006
RC—40H L+ & 55 [ D % -0.009 m3
8 IEFXPEIEMALIE As BER ALy (B AR =Rl ikt A X =1. 5%0. 15
1% 0.225 m3
9 PEREALEREME BH0.20m3 DTr4t BERA e (B 130 =R A i A2 X =1. 5%0. 15
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.225 m3
10 F&E W BHO0.20m3 DTr4t 7 5B R=H1 57 +H2 57+ T 98 55 (IS +Hll ) 54 =0. 81
+# 0.5kmPLF DIDA % 2.025 m3 +1.215+0+00
11 Ef%ET (HEE-/F) 5eml fE A8 IR =FE F*ig+ N H=1. 5%1+0
HAEBRIEAs T4 ® 1.500 m2




T THEHAEE

(TEr#— 8 ) Bl /KB AT ek Lo
B 1 - 2 BlKEAER L[]

37 H

X 20007 F¥ETD
NO M &FR/ IR~k B g HAL FHER
1 AHEERREINT T AT 7 VMR Sl BT T =Eil 2 PR B A B N B = 1%2+2
15ecmPA T " 4.000 m
2 ERRIGIRMLE ST T A VBT = (AR REHIE I I+ AN BN L) %0, 023%
% 0.005 m3 &HHZEE=(1%2+2)*0. 023%0. 05
3 SHSERNIUELAHA BHO0.20m3 EREIR A T =3 R+ T AN B =1%1+0
AHAEE10em LA T ® 1.000 m2
4 FR¥Ev +w BIRHIRHY PR THI=ZE 5+ E=1%1%0. 46
A1 ® 0.460 m3
5 EH¥IEE! BHO0.20m3 PEHI TH2=FE Rex i #E=1%150. 69
% 0.690 m3
6 &SR (B 5) BHO.20m3 B T UL =3 el iB=1%1%1. 17
RC-408E & + & o 7S5 [ 6 % 1.170 m3
7 ERSHLE (ML) BHO.20m3 PR PR CHTRR ) =2E o8 W T fii=— 1% 1%0. 006
RC—408H 52+ % /< [E ® -0.006 m3
8  FREVEEMILE As BER ALy (B AR =Rl Ak i A X =1%0. 05
1% 0.050 m3
9 FEFESMLPRMEME BHO0.20m3 DTr4t BERTE: (B A =M AR+ 2 X =1%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.050 m3
10 F&E W BHO0.20m3 DTr4t 7 3B R=H1 57 +H2 53 Hik T 88 5y (IS Hll ) 54 =0. 46
+# 0.5kmPLF DIDA % 1.150 m3 +0.69+0+00
11 Ef%ET (HEE-/F) 3cmlfE A8 IR =3 Fo* g+ i FE N B =1%1+0
HAEBRIEAs T4 ® 1.000 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo

B 3 BAn L[]

38

X[ 30001 B&ER3-1 PP ¢ 25 Wi
NO M &FR/ IR~k B g HAL FHER
1 EREERRUINT 7 A7 7 VMR Sl B T =Eil 2 2 = R H A BN B =2, 5%2+0
15ecmPA T " 5.000 m
2 ERRIGIRMLE ST TR A VBT = (AR REHIE I I+ AN BN L) %0, 023%
% 0.017 m3 #HEEE=(2. 5%2+0)*0. 023%0. 15
3 EEERNEUELEGA BHO0.20m3 S LR T =2 R lE + I AR N E =2, 5%0. 6+0
AHEEE10em 2 15em L T ” 1.500 m2
4 ERIERREUELRHA BHO0.20m3 S LR T =2 RoxlE + I AR N E =2, 5%0. 6+0
EEEE10em L T % 1.500 m2
5 EH¥IEE! BHO0.20m3 PEHI TH2=4E e +E*%E=2. 5%0. 6%0. 93
% 1.395 m3
6 EEH] BH0.20m3 PRI T =45 liE % 248 5%=2. 5%0. 6% (0. 68+0. 25+0+0+0. 15—
1% 1.313 m3 0.05)*0.85
7 LRHEY Y BUREIKHY PRI T =4E E#Es7Ex15%=2. 5%0. 6% (0. 68+0. 25+0+0+0. 15—
A ® 0.232 m3 0.05)%0. 15
8 IRy b BURHKHY PRHITERR (R =4E F+ 48 Wi fE=—1%2. 5%0. 001
A1 ® -0.003 m3
9 ERKHLE (B FY) BHO.20m3 PR B TUL=%E Feoxfig+4=2. 5%0. 6%0. 68
RC-408E B + &L 7S5 [H o & 1.020 m3
10 ERSHLE (BEhgE 52) BHO.20m3 P B TU2=%E Foxfigis4=2. 5%0. 6%0. 35
M-40HR 5 + & L S [ 6 % 0.525 m3
11 REHEE G (Fgh L 52) BHO.20m3 PG (BT RR A ) =HE s BT T Fii=— 1%2. 5%0. 001
RC—408H 52+ Z /< [E ® -0.003 m3
12 IR (BT R) BHO.20m3 MR T=3EE*E*%E=2. 5%0. 6% (0. 68+0. 25+0+0)
FAE R+ 2 SFEE O & 1.395 m3
13 HERFEREMALER As BERA AL Gy (B HIER) =t i i+ S =1. 5%0. 15
% 0.225 m3
14 RERFEIEMALER As BER AL S5 (IRAE TH) =R Rk T F# 5 S=1. 5%0. 05
1% 0.075 m3
15 M (FE7 ) HREMEHER =1L =2.5
¢ 50LL T ® 2.500 m
16 PEFSMLPRMEME BHO0.20m3 DTr4t BERTE (R HIR) =Mk im A8 X =1. 5%0. 15
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.225 m3
17 PEBSALFRLYERE BHO0.20m3 DTr4t BERTE (HE 1B) =k im A8 X =1. 5%0. 05
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.075 m3
18 F&E S BH0.20m3 DTr4t 7 5@ =11 57 +H253 +ik T 88 55 (IS +ll ) — i 58 =0+1.
+# 0.5kmPLF DIDA % 1.395 m3 395+0+00
19 &ET (HEE-HJE) Senl B AR IR =3E F*iig+ i FE N =2, 5%0. 6+0
HAEBRIEAs T4 ® 1.500 m2
20 AHEET (FE-¥E)5cml)E MG [A=HE F* g+ AN 5 =2. 5%0. 6+0
AR EAs ST % 1.500 m2
21  LJEEAR T (HE-BF) 0E B 1 4moR AE H=FE K H+E+EFE NN B =2. 5%0. 6+0
BTS2 e R % 1.500 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo

B 3 BAn L[]

39 H

X[ 30002 B&HR3-1 PP ¢ 25 W@
NO M &FR/ IR~k B g HAL FHER
1 SHEERRUEIRT TA77 VMR Sl B T =El 2 A = IR B AS BN B =31, 5%2+0
15cmPd T ® 63.000 m
2 ERRIGIRMLE G W) A LB = (AR RS HIE 1 I A+ AR BN L) %0, 023%
% 0.043 m3 #EE/E=(31. 5%2+0)*0. 023%0. 03
3 AHLERREEELRDA BHO0.20m3 SRR T=IE R+ T AN 5=31. 5%0. 6+0
AHAEE10em LA T ® 18.900 m2
4 BEEERREUELFHA BHO0.20m3 SRR T=IE R+ AN 5=31. 5%0. 6+0
EEEE10em L T % 18.900 m2
5 EH¥IEE! BHO0.20m3 PEHI TH2=2E Re+E*%E=31. 5%0. 6%0. 4
% 7.560 m3
6 ‘EEH] BHO0.20m3 PR T =ZE -+ E*+745%85%=31. 5%0. 6% (0. 4+0+0+0+0. 03-0. 0
w 6.426 m3 3)*0.85
7RI TR BURHIKHY PRSI T =3E E#lE+72%15%=31. 5%0. 6% (0. 4+0+0+0+0. 03-0. 0
A ® 1.134 m3 3)%0.15
8 IRIEY b HBHIKIHY PRHEITERR (R M) =IE B+ Wrmm fE=—1*31. 5%0. 001
A1 ® -0.032 m3
9 ERKHLE (B FY) BHO.20m3 PR B TUL=4E Feoxfigs=31. 5%0. 6%0. 4
RC-408E B + &L 7S5 [H o & 7.560 m3
10 R (B R) BHO.20m3 RS (BT = E R+ Wi A =—1%31. 5%0. 001
RC-408E & + & o 7S5 [E o % -0.032 m3
11 R (B R) BHO.20m3 LR T =4 E#lF*1E=31. 5%0. 6% (0. 4+0+0+0)
FgA L 4 2 [ 6D % 7.560 m3
1o RERFERMALER As BERA AL Gy (B HIER) =t ik i FE+ 5 < =18. 9%0. 03
1% 0.567 m3
13 FEERXBEIEMALEE As BERAL Sy (A 1) =Rl Ak Thi A X =18. 9%0. 03
% 0.567 m3
14 EMUGE (BETT) R EMEIER =1L =31.5
¢ 50LLF % 31.500 m
15 PEFSALERESE BHO0.20m3 DTr4t BERENE (R EER) =Ml A+ B X =18. 9%0. 03
AsBll - CoBll (#4%) 0.5kmLL F DIDA & 0.567 m3
16 PEBSALFRLYEME BHO0.20m3 DTr4t BERTER: (AE 1H) =i AR+ 2 X =18. 9%0. 03
As3 - CoBll (##7%) 0.5kmEL ' DIDA " 0.567 m3
17 F&E M BHO0.20m3 DTr4t 7 B HR=H1 57 +H2 57 ik T 88 55 (IS +Hll ) — i 58 =0+7.
+# 0.5kmPL T DIDA % 7.560 m3 56+0+00
18 &hEET (HE-HJE) 3cml B A8 IR =FE F*ig+ i FE MM A =31. 5%0. 6+0
HABRIEAs 774 % 18.900 m2
19 &ET (HEE-HJE) 3cnl B AAE [H=IE F* g+ AN =31. 5%0. 6+0
HAEBRIEAs T4 ® 18.900 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo

B 3 EEAA T[]

40 H

X 30003 B&AER3-1 EEASHE/AK T PP ¢ 20
NO 4 #p,/ Bk -~k B g HAL FHER
1 AHEERREINT T AT 7 VMR Sl B T =Eil 2 2 = PR B A BN B =0, 5%2+0
15ecmPA T " 1.000 m
2 ERRIGIRMLE ST TR A VBT = (AR REHIE I I+ AN BN L) %0, 023%
% 0.001 m3 #EEE=(0.5%2+0)*0. 023%0. 03
3 EEERNEUELELGA BHO0.20m3 SRR T = R+ T RS N 5=0. 5%0. 6+0
AHAEE10em LA T ® 0.300 m2
4 ERIERREUELRHA BHO0.20m3 SRR T =T g+ T A N 5=0. 5%0. 6+0
EEEE10em L T % 0.300 m2
5 EH¥IEE! BHO0.20m3 PEHI TH2=2E e+ *%E=0. 5%0. 61, 34
& 0.402 m3
6 EFHIEH] BHO0.20m3 PR T =ZE S+ E+7E%85%=0. 5%0. 6% (1. 34+0+0+0+0. 03-0. 0
w 0.342 m3 3)#*0.85
7 #E@ T BIGHIKHY PRI T =ZE @581 5%=0. 5%0. 6% (1. 34+0+0+0+0. 03-0. 0
® 0.060 m3 3)%0.15
8 f“ ﬁ% W BGHIKHY PRHIERR (R =4 F+ 48 Wi fE=—1%0. 5%0. 001
A1 ® -0.001 m3
9 ERKHLE (B FY) BHO.20m3 PR B TUL=%E Foxfig+4=0. 5%0. 6%1. 34
RC-40HE 5+ &/ 5 [E 6D " 0.402 m3
10 R (B R) BHO.20m3 PR BT HERR (HTER ) =JE 4% T i A =—1%0. 5%0. 001
RC—408 52 + % /< Fh[E ® -0.001 m3
11 R (B R) BHO.20m3 R T =3 E+lE*1E=0. 5%0. 6% (1. 34+0+0+0)
FEA MR 4 2 [ D Vi 0.402 m3
1o RERFERMALER As JFERA I3 (B IS ) =B i /B < =0. 3%0. 03
% 0.009 m3
13 AERXPEFEMILEL As B BEM ALY (AR IA) =Pk x5 S =0. 3%0. 03
& 0.009 m3
14 B E (BET) HREMEHER=1=0.5
d50LL T ® 0.500 m
15 PEFSMLPRMEME BHO0.20m3 DTr4t BERT S (R HI0) =Mk A8 X =0. 3%0. 03
AsHL - CoBll (#4#5) 0.5kmLL F DIDA & 0.009 m3
16 PEBSALFRLYEME BHO0.20m3 DTr4t BERTE (A8 1B) =k A8 X =0. 3%0. 03
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.009 m3
17 34 +3EHE BH0.20m3 DTr4t T T E R =H1 25 +H2 05 Hik R4 4 (JE 03 A dn) — 1 2 4 =0+0.
+# 0.5kmPL T DIDA & 0.402 m3 402+0+00
18 & T (HE) 3eml E A8 IR =3 g+ FE N 5 =0. 5%0. 6+0
HABREAs 77445 % 0.300 m2
19 & (HE) 3eml fE MG [H=HE K+ g+ AN 5 =0. 5%0. 6+0
HAEBRIEAs T4 ® 0.300 m2




T+ TEHEE

(TEr#— 8 ) Bl /KB AT ek Lo

B 3 EEAA T[]

41 =]

X[ 30004 B&AER3-1 EEASHS/AKT. PP ¢ 25
NO 4 #p,/ Bk -~k B g HAL FHER
1 AHEERREINT T AT 7 VMR Sl B T =Eil 2 2 = PR B A BN B =0, 5%2+0
15ecmPA T " 1.000 m
2 ERRIGIRMLE ST TR A VBT = (AR REHIE I I+ AN BN L) %0, 023%
% 0.001 m3 #EEE=(0.5%2+0)*0. 023%0. 03
3 EEERNEUELELGA BHO0.20m3 SRR T = R+ T RS N 5=0. 5%0. 6+0
AHAEE10em LA T ® 0.300 m2
4 ERIERREUELRHA BHO0.20m3 SRR T =T g+ T A N 5=0. 5%0. 6+0
EEEE10em L T % 0.300 m2
5 EH¥IEE! BHO0.20m3 PEHI TH2=4E e+ *%E=0. 5%0. 61, 35
& 0.405 m3
6 EFHIEH] BHO0.20m3 PRI T =ZE @ +55%85%=0. 5%0. 6% (1. 35+0+0+0+0. 03-0. 0
w 0.344 m3 3)#*0.85
7 #E@ T BIGHIKHY PRI T =ZE @581 5%=0. 5%0. 6% (1. 35+0+0+0+0. 03-0. 0
® 0.061 m3 3)%0.15
8 f“ ﬁ% W BGHIKHY PRHIERR (R =4 F+ 48 Wi fE=—1%0. 5%0. 001
A1 ® -0.001 m3
9 ERKHLE (B FY) BHO.20m3 PR B TUL=%E Foxfig+4=0. 5%0. 6%1. 35
RC-40HE 5+ &/ 5 [E 6D " 0.405 m3
10 R (B R) BHO.20m3 PR BT HERR (HTER ) =JE 4% T i A =—1%0. 5%0. 001
RC—408 52 + % /< Fh[E ® -0.001 m3
11 R (B R) BHO.20m3 5 T =3 E+lE*1E=0. 5%0. 6% (1. 35+0+0+0)
FEA MR 4 2 [ D Vi 0.405 m3
1o RERFERMALER As JFERA I3 (B IS ) =B i /B < =0. 3%0. 03
% 0.009 m3
13 AERXPEFEMILEL As B BEM ALY (AR IA) =Pk x5 S =0. 3%0. 03
& 0.009 m3
14 B E (BET) HREMEHER=1=0.5
d50LL T ® 0.500 m
15 PEFSMLPRMEME BHO0.20m3 DTr4t BERT S (R HI0) =Mk A8 X =0. 3%0. 03
AsHL - CoBll (#4#5) 0.5kmLL F DIDA & 0.009 m3
16 PEBSALFRLYEME BHO0.20m3 DTr4t BERTE (A8 1B) =k A8 X =0. 3%0. 03
AsHll - CoBl (##£47) 0.5kmEA T DIDA " 0.009 m3
17 34 +3EHE BH0.20m3 DTr4t T T E R =H1 25 +H2 05 Hik R4 4 (JE 03 A dn) — 1 2 4 =0+0.
+# 0.5kmPL T DIDA & 0.405 m3 405+0+00
18 &hEET (HE-HJE) 3cml B A8 IR =3 g+ FE N 5 =0. 5%0. 6+0
HABREAs 77445 % 0.300 m2
19 &ET (HEE-HJE) 3cnl B MG [H=HE K+ g+ AN 5 =0. 5%0. 6+0
HAEBRIEAs T4 ® 0.300 m2




T THEHAEE

(TEr#— 8 ) Bl /KB AT ek Lo

pAr 4 BERREmE T (]

42 H

X 40001 B&HR4-1  BERXAEH(E DIP ¢ 250 WiE®
NO M &FR/ IR~k B g HAL FHER
1 WEE R ETREDA R (B #5858 BERR E =M L IE R=68. 5
® 250 % 68.500 m
9 AHLERREEELRDA BHO0.20m3 SRR T =3 e+ T A N 5=68. 5%0. 9+0
EEEE10em L T % 61.650 m2
3 EKIEE] BHO0.20m3 PEHI THI=ZE R +E+%E=68. 5%0. 9%1. 67
% 102.956 m3
4 ERYEA] BHO.20m3 TRHIERR (W) =3k Ko+ T TR FE=—1%68. 5%0. 058
1% -3.973 m3
5 LRI (BRSO R - G L) R + 88 T=3ER=68. 5
L5m<HMHNE=1.8m ~Nv/iU5|#k & 68.500 m
6 B ISHEE (BhkHE 5D) BHO.20m3 PR B TUL=4E Foxfig+42=68. 5%0. 9%1. 67
RC-40H i+ &> 55 [ D % 102.956  m3
7 EERBEIEMALEE As B BER ALy (B AR =Rk i FE+ S X =61. 65%0. 05
% 3.083 m3
8  PEFRALERENE BHO0.20m3 DTrdt BEREHE (R EIER) =i A+ 2 X=61. 65%0. 05
As3 - CoBll (##7%) 0.5kmEL ' DIDF ® 3.083 m3
9  F&E M BHO0.20m3 DTr4t 7 5B RR=H1 57 +H257 Hik T 88 45 (IS +ll ) — i 54 =102.
+# 0.5kmPAF DIDA ® 98.983 m3 956+0+0+0-3. 973
10 &h2ET (HEE-JE)Senl B A8 IR =3 F*ig+ i FE N H=68. 5%0. 9+0
HABRIEAs 7T74 % 61.650 m2
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XIH 40002 F&ER4-2 BERRETIZE RRVP ¢ 75 W@
NO M &FR/ IR~k B o B FHEKX
1 ASEAREBUELURGA BHO0.20m3 SRR T =3 g+ T RSN 5=3. 8%0. 6+0
AHEEE10em L T ® 2.280 m2
2 EH¥IEE! BHO0.20m3 PEHI THI=ZE R +hE*%E=3. 8%0. 6%1. 24
1% 2.827 m3
3 EKIEE] BHO0.20m3 TRHIERR () =3k Ko+ WT TR FE=—1%3. 8%0. 01
% -0.038 m3
4 EREHLE (B BD) BHO.20m3 PR B TUL=4E Foxfigs4e=3. 8%0. 6%1. 24
RC-40H i+ & 5 [ D 1% 2.827 m3
5 REXBEIEMALEL As B BER ALy (HE AR =Rl ik i A X =2. 28%0. 05
% 0.114 m3
6 PERRALFREME BHO0.20m3 DTr4dt BERTE (BRHI) =M Emm AR+ 2 X =2. 28%0. 05
As3 - CoBll (##75) 0.5kmEL ' DIDA w 0.114 m3
7 Z&A+HEME BHO0.20m3 DTrdt 5% B W=H1 3 +H2 4wk T8 4y (S +HlT) — i =2. 82
+# 0.5kmPAF DIDA ® 2.789 m3 7+0+0+0-0.038
8 Ei%ET (HEE-HJF) 5emlfE IR IR =3 g+ F N 5 =3. 8%0. 6+0
HABREAs 77445 % 2.280 m2
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X[ 40003 B&HR4-3 BERREHZE DIP.K ¢ 100 WrE®
NO M &FR/ IR~k B o B FHEKX
1 WEE R ETREDA R (B #5858 BERR B i =i B e Re=8
6 100 % 8.000 m
2 EAERRUINT T AT7 NV MEEEERR Sl T =A% A = PR HI A BN B =8+2+0
15emPh T & 16.000 m
3 ERRIGIRAL SO TR A VBT = (B RS HE 1A I+ A BN L) %0, 023%
% 0.055 m3 &HEEE=(8%2+0)*0. 023%0. 15
4 ERIERREUELRHA BHO0.20m3 S LR T =4 R & + T AR N =8%0. 6+0
EiZE)E 10emAA X 15ecm LT ® 4.800 m2
5 EEERNEUELESGA BHO0.20m3 S LR A T =4 R & + T AR N =8%0. 6+0
AHAEE10em L T ® 4.800 m2
6 EH¥IEE] BHO0.20m3 PEHI THI=ZE R +hE*%E=8%0. 6%1. 07
1% 5.136 m3
7 EH¥IEE] BHO0.20m3 TRHIERR (RS =IE R+ B T i F=—1%8%0. 011
% -0.088 m3
8 EISHLE (BEMkE 5) BHO.20m3 PR B TU1=%E Fokig =80, 6%0. 57
RC-40H i+ & 5 [ D 1% 2.736 m3
9 ERKHLE (B FY) BHO.20m3 P B T U2=%E Rk g 8=8+0. 6%0. 25
RC-408E B + &L 7S5 [H o & 1.200 m3
10 IR (B R) BHO.20m3 PR 5T T US=%E - * M+ 18=8%0. 6%0. 35
M-408 & + & o 7 G [E o 1% 1.680 m3
11 FRREEWILE As B BER ALy (B AR =Rl ik T A X =4. 8%0. 15
% 0.720 m3
12 FREEEWILE As BER ALy (AR 1) =Rk Thi A X =4. 8%0. 05
1% 0.240 m3
13 FEFSMLPRMEME BHO0.20m3 DTrat BERT S (R HI0) =Mk A8 X =4. 8%0. 15
AsBll - CoBll (#4%) 0.5kmLL N DIDA & 0.720 m3
14 PEBSALFRLYERE BHO0.20m3 DTr4t BERTE (AE 1B) =k A8 X =4. 8%0. 05
As3 - CoBll (##7%) 0.5kmEL ' DIDA ® 0.240 m3
15 F&E 1M BHO0.20m3 DTr4t 5% LB W=H1 23 +H2 4wk T8 4y (S +Hl ) — i 59 =5. 13
+# 0.5kmPAF DIDA ® 5.048 m3 6+0+0+0-0. 088
16 Ei%ET (HEE-/F) 5emlfE A8 |B =3 F*ig+ i FE N =8%0. 6+0
HABREAs 77445 % 4.800 m2
17 EiEET (FEE-HJF) SemlfE ARG [H=E o+ g+ A /11 5 =8%0. 6+0
BAEBRIEAs Xy % 4,800 m2
18 LR T (FOE-HH) 08B 1L4mAH; ARG [H=E o+ g+ A /11 5 =8%0. 6+0
FHAEE RS R % 4.800 m2




